
 

SUNMASTER 
PARTS BOOK 

 

1220, 1620, 1820 and 2420 Series 
 

High Capacity  

Sunflower, Corn and Milo  

Harvesting Attachment  
 

 

 

 

Sheyenne Tooling & Manufacturing 

701 Lenham Ave. SW / PO Box 647 

Cooperstown  ND  58425 

701-797-2700 

800-797-1883 
Fax 701-797-2584 

www.sheyennemfg.com 





701 Lenham Ave SW
PO Box 647

Cooperstown  ND  58425
(800) 797-1883 or (701) 797-2700

Fax (701) 797-2584
www.sheyennemfg.com

Sheyenne
   SUNMASTER
         HEADER

High Capacity
Sunflower, Corn & Milo
Harvesting Attachment

Available In:
8, 12 and 16 Row With 30” Spacing 
12 and 16 Row with 22” Spacing  &

12, 16, 18 and 24 Row With 20” Spacing 

Custom Painting Available

Cuts the stalks.
Can chop and spread

or drop for stover

Improved conditions for spring
planting and weed control

Harvest  6 – 30%
more crop from the

same field !

Minimize ear losses
in lodged corn

 Unique design picks up
downed milo, but leaves
taller standing stubble

Significantly reduce
shatter losses

Superior choice for lodged or
excessively dry  sunflowers

Made in 
  the USA





20" Manual

                  Description Chart # Page #

Table of Contents - 2

Service parts, how to order   -   metric information - 3

Major component systems 001 4 & 5

Lower drive assy 002 6 & 7

Gearbox arrangement detailed, 16, 18 & 24 row 003 8 & 9

Sprockets, Shafts & Gearboxes 004 10 & 11

Gearbox assy, inner 005 12 & 13

Gearbox cross-sections 006 14 & 15

Shafts, sprockets, bearings, keys, hubs & hardware 007 16 & 17

Arm assembly 008 18 & 19

Cross auger mounting, LH & RH 009 20 & 21

Endplate assemblies, LH & RH 010 22 & 23

Center support, divided cross auger, 2420 model 011 24 & 25

The two drive systems defined   -   26 & 27

Single end drive assemblies, RH & LH, model 1220 012 28 & 29

Double end drive assy, LH, models 16, 18 & 2420 013 30 & 31

Double end drive assy, RH, models 16, 18 & 2420 014 32 & 33

Connecting shaft assembly 015 34 & 35

Clutch and sprocket assembly, LH, 12, 16, 18 & 24 016 36 & 37

Clutch and sprocket assembly, RH, 16, 18 & 24 017 38 & 39

Chain tensioner assembly 018 40 & 41

PTO drive shaft assy 019 42 & 43

JD 9600 drive kit 020 44 & 45

Row units 021 & 022 46 - 49

Rotary cutting mechanism 023 50 & 51

Gathering chain and tensioner assy  (RH/LH) 024 52 & 53

Chain guide assy  (RH/LH) 025 54 & 55

Vibrating catch pan assemblies 026 56 & 57

Vibrating catch pans 027 & 028 58 - 61

Lower shielding 029 & 030 62 - 65

Shields, left hand   (divider) 031 66 & 67

Shields, right hand  (divider) 032 68 & 69

Rear screen assy 033 70 & 71

Snouts 034 72 & 73

Snout assy, end row - left hand - 20" 035 74 & 75

Snout assy, end row - right hand - 20" 036 76 & 77

Snout assy, center - 20"   --  with left & right variation 037 78 & 79

Special tools, detachable parts & optional parts 038 80 & 81

Decals 039 82 & 83

Suggested dealer parts kit for Sunmaster Headers - 84

Customer spare parts kit - 85

     Index 86 - 93

Table of Contents

2





1.1.      Using the parts catalog
The drawings indicate item numbers relevant descriptions,  the part
numbers, and number of parts for 8,-12,-16 row units respectively ,
so the  parts going to be ordered can easily be identified. 

1.2. How to order service parts
Please give the following data on ordering parts : 

- Production year of the header, if known 
- Serial number of the header  (from owners manual) 
- Description, part numbers and quantity of ordered parts

   (from this manual)

        Note:    Please follow the above directions when ordering, it helps us send the 
   correct part(s).

Information:   The Sunmaster header was originally engineered in Europe, using the 
    Metric system.  The header is still primarily Metric, including the hard-

                         ware.  Below find two tables that compare the Metic system and the
                         English  system of grading bolts and screws.  The last column of the
                         Metric table has useful equivelent information comparing the two sytems.     

     Fig 1.  Common strength grades for             Fig 2.  Common strength grades for
     Metric fasteners.         English fasteners.

       Because of it's European roots you may still find some terms or words 
       in this manual that have been translated a little differently.

  3       



M
aj

or
 C

om
p

on
en

t 
S

ys
te

m
s

4



M
a
jo
r 
C
o
m
p
o
n
en
t 
S
y
st
em

s
0
0
1

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
#
1
2
2
0

 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

1
L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
2
2
0

0
1
-0
1
5
-7
7
0

1

1
L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-3
5
9

1

1
L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-3
6
0

1

1
L
o
w
er
 d
ri
v
e 
a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-3
6
3

1

2
A
u
g
er
 a
ss
y
, 
C
ro
ss
 -
 1
2
2
0

0
1
-0
0
1
-9
5
3

1

2
A
u
g
er
 a
ss
y
, 
C
ro
ss
 -
 1
6
2
0

0
1
-0
0
1
-9
5
5

1

2
A
u
g
er
 a
ss
y
, 
C
ro
ss
 -
 1
8
2
0

0
1
-0
0
1
-9
5
6

1

2
A
u
g
er
 a
ss
y
, 
C
ro
ss
, 
w
/s
u
p
p
o
rt
 -
 2
4
2
0

0
1
-0
0
1
-9
5
9

1
  
 w
/ 
C
en
te
r 
b
ea
ri
n
g
 s
u
p
p
o
rt

3
E
n
d
 d
ri
v
e 
a
ss
y
, 
L
H
 -
 1
2
2
0

0
1
-0
0
1
-8
3
3

1

3
E
n
d
 d
ri
v
e 
a
ss
y
, 
L
H
 -
 D
b
l 
- 
1
6
2
0
, 
1
8
 &
 2
4

0
1
-0
2
4
-0
7
3

1
1

1

4
E
n
d
 d
ri
v
e 
a
ss
y
, 
R
H
 -
 D
b
l 
-1
2
2
0

0
1
-0
0
1
-8
2
9

1

4
E
n
d
 d
ri
v
e 
a
ss
y
, 
R
H
 -
 D
b
l 
- 
1
6
2
0
, 
1
8
 &
 2
4

0
1
-0
2
4
-0
7
4

1
1

1

5
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
1
2
2
0

0
1
-0
1
5
-7
7
4

1

5
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-8
2
4

1

5
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-8
2
3

1
  
 A
ft
er
 S
er
. 
N
o
. 
M
1
1
6
5
0

5
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-8
2
7

1

6
J
D
 -
 9
6
0
0
 d
ri
v
e 
k
it
, 
a
x
le
 s
u
p
p
o
rt
*
 

0
1
-0
1
6
-3
6
6

1
1

1
  
o
n
ly
 f
o
r 
J
D
-9
6
0
0
 c
o
m
b
in
e

7
M
a
in
 f
ra
m
e 
w
el
d
ed
, 
II
 -
 1
2
2
0

0
2
-0
1
5
-7
0
5

1

7
M
a
in
 f
ra
m
e 
w
el
d
ed
, 
II
 -
 1
6
2
0

0
2
-0
1
8
-7
0
4

1

7
M
a
in
 f
ra
m
e 
w
el
d
ed
, 
II
 -
 1
8
2
0

0
2
-0
1
8
-7
0
5

1

7
M
a
in
 f
ra
m
e 
w
el
d
ed
, 
II
 -
 2
4
2
0

0
2
-0
1
8
-7
0
8

1

  
K
it
, 
P
T
O
 h
o
ld
er

 0
1
-0
0
2
-0
0
4

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
K
it
, 
p
a
rt
s 
8
 &
 9

8
H
a
n
g
er
 w
/a
, 
P
T
O

1
2
-0
0
4
-0
9
0

1
2

2
2

9
S
cr
ew

, 
th
d
 c
u
tt
in
g
, 
h
ex
 h
d
, 
5
/1
6
 x
 3
/4

9
0
0
-1
7
6
1
5

2
4

4
4

*
 S
ee
 p
ag
es
 4
2
 &
 4
3

5

 P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 #



 

6

G
ea

rb
ox

 A
ss

em
b

ly
   

   
   

   
  D

ri
ve

 S
h

af
t 

(M
id

d
le

) 
   

   
 T

ra
n

sm
is

si
on

 S
h

af
t 

   
   

   
 A

rm
 A

ss
em

b
ly

M
ai

n
 F

ra
m

e

A
B

C
D

S
ca

le
  1

:5
S

ca
le

  1
:1

0
S

ca
le

  1
:1

0
S

ca
le

  1
:5



L
o
w
e
r 
D
ri
v
e
 A
s
s
e
m
b
ly

0
0
2

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
#
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

 R
em

a
rk
s

L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
2
2
0

0
1
-0
1
5
-7
7
0

1

L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-3
5
9

1

L
o
w
er
 d
ri
v
e 
a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-3
6
0

1

L
o
w
er
 d
ri
v
e 
a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-3
6
3

1

1
G
ea
rb
o
x
 a
ss
y
, 
in
n
er

0
3
-0
0
4
-1
6
1

1
2

1
2

1
4

1
8

G
ea
rb
o
x
 a
ss
y
, 
in
te
rm

ed
ia
te

0
3
-0
2
4
-0
7
9

0
0

0
0

  
 a
ls
o
 s
ee
 p
p
 8
,9
,1
0
&
1
1

G
ea
rb
o
x
 a
ss
y
, 
o
u
te
r

0
3
-0
2
4
-0
7
8

0
4

4
6

  
  
  
  
  
  
  
  
  
  
 "

2
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
ce
n
te
r

0
1
-0
1
8
-3
6
9

1
1

1
1

3
L
o
w
er
 t
ra
n
sm

is
si
o
n
 s
h
a
ft
 a
ss
y
, 
2
0
"

0
1
-0
1
8
-3
6
7

1
0

1
0

1
2

1
6

  
 a
ls
o
 s
ee
 p
p
 8
,9
,1
0
&
1
1

O
u
te
r 
tr
a
n
sm

is
si
o
n
 s
h
a
ft
, 
2
0
"

0
1
-0
1
8
-3
7
1

0
4

4
6

  
  
  
  
  
  
  
  
  
  
 "

4
A
rm

 a
ss
y

0
1
-0
1
6
-3
7
0

1
1

1
5

1
7

2
3

5
S
cr
ew

, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8
 *

M
1
2
x
5
0

2
4

3
2

3
6

4
8

6
S
cr
ew

, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
5
5

2
4

3
2

3
6

4
8

7
W
a
sh
er
, 
fl
a
t

M
1
2
F
W

4
8

6
0

7
2

9
6

8
W
a
sh
er
, 
lo
ck

M
1
2
L
W

2
4

3
2

3
6

4
8

9
N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
2
H
N

4
8

6
0

7
2

9
6

1
0
a

C
h
a
in
, 
d
o
u
b
le
 r
o
ll
er

1
0
B
2
-1
3

2
3

2
4

2
5

3
3

1
3
 l
in
k
, 
in
n
er

1
0
b

C
h
a
in
, 
d
o
u
b
le
 r
o
ll
er

1
0
B
2
-1
5

0
8

1
0

1
4

1
5
 l
in
k
, 
o
u
te
r

1
1

C
h
a
in
 c
o
n
n
ec
to
r 
li
n
k

C
L
1
0
B
2

2
5

2
6

3
5

4
7

D
o
u
b
le

1
2

W
a
sh
er
, 
fl
a
t

M
1
4
F
W

1
1

1
5

1
7

2
3

1
3

C
o
tt
er
 p
in
, 
1
/8
 x
 1
"

9
0
0
-2
3
0
2
5
 *
*

1
1

1
5

1
7

2
3

*
*
 S
h
ey
en
n
e 
P
a
rt
 N
o
.

7

 P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m

o
d
el
 n
u
m
b
er

  
  
*
 G

ra
d
e 
8
.8
 i
n
 t
h
e 
m
et
ri
c 
sy
st
em

 i
s 
ro
u
g
h
ly
 e
q
u
il
en
t 
to
 a
 S
A
E
 g
ra
d
e 
5
 i
n
 t
h
e 
E
n
g
li
sh
 s
y
st
em



8



0
0
3

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
#
1
2
2
0
 *

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

1
O
u
te
r 
g
ea
rb
o
x
 a
ss
y

0
3
-0
2
4
-0
7
8

*
4

4
6

  
  
 *
*
*

2
In
te
rm

ed
ia
te
 g
ea
rb
o
x
 a
ss
y

0
3
-0
2
4
-0
7
9

0
0

0
  
  
*
*
*
*

3
In
n
er
 g
ea
rb
o
x
 a
ss
y

0
3
-0
0
4
-1
6
1

1
2

1
4

1
8

4
O
u
te
r 
tr
a
n
sm

is
si
o
n
 s
h
a
ft
, 
2
0
"

0
1
-0
1
8
-3
7
1

4
4

6

5
L
o
w
er
 t
ra
n
sm

is
si
o
n
 s
h
a
ft
 a
ss
y
, 
2
0
"

0
1
-0
1
8
-3
6
7

1
0

1
2

1
6

6
D
ri
v
e 
sh
a
ft
 a
ss
y
, 
ce
n
te
r

0
1
-0
1
8
-3
6
9

1
1

1

7
A
rm

 a
ss
y

0
1
-0
1
6
-3
7
0

1
5

1
7

2
3

8
W
a
sh
er
, 
fl
a
t

M
1
4
F
W

1
5

1
7

2
3

9
C
o
tt
er
 p
in
, 
1
/8
 x
 1
"

9
0
0
-2
3
0
2
5
  
*
*

1
5

1
7

2
3

1
0

C
h
a
in
, 
d
o
u
b
le
 r
o
ll
er

1
0
B
2
-1
5

8
1
0

1
4

  
1
5
 l
in
k
, 
o
u
te
r

1
1

C
h
a
in
, 
d
o
u
b
le
 r
o
ll
er

1
0
B
2
-1
3

2
4

2
5

3
3

  
1
3
 l
in
k
, 
in
n
er

1
2

C
h
a
in
 c
o
n
n
ec
to
r 
li
n
k

C
L
1
0
B
2

2
6

3
5

4
7

  
D
o
u
b
le

1
3

S
cr
ew

, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
5
0

3
2

3
6

4
8

1
4

S
cr
ew

, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
5
5

3
2

3
6

4
8

1
5

W
a
sh
er
, 
fl
a
t

M
1
2
F
W

6
0

7
2

9
6

1
6

W
a
sh
er
, 
lo
ck

M
1
2
L
W

3
2

3
6

4
8

1
7

N
u
t,
 h
ex

M
1
2
H
N

6
0

7
2

9
6

*
  
F
o
r 
m
o
d
el
 1
2
2
0
 s
ee
 p
p
 6
 &

 7

*
*
  
S
h
ey

en
n
e 
P
ar
t 
N
o
.

*
*
*
 G

ea
rb
o
x
 s
iz
es
 a
n
d
 s
h
af
t 
d
ia
m
et
er
s 
v
ar
y
. 
 I
n
n
er
 b
o
x
es
 a
n
d
 s
h
af
ts
 c
ar
ry
 m

o
re
 t
o
rq
u
e 
lo
ad

.

9

G
e

a
rb

o
x

 a
rr

a
n

g
e

m
e

n
t 

d
e

ta
il

e
d

, 
1

6
, 

1
8

 &
 2

4
 r

o
w

  
P
ie
ce
s 
p
er
 H

ea
d
er
 b
y
 m

o
d
el
 n
u
m
b
er

*
*
*
*
 P
ar
t 
n
u
m
b
er
 n
o
t 
cu

rr
en

tl
y
 u
se
d



In
n
er

 G
ea

rb
o
x

In
te

rm
ed

ia
te

 G
ea

rb
o
x

O
u
te

r 
G

ea
rb

o
x

0
3
-0

0
4
-1

6
1

0
3
-0

2
4
-0

7
9

0
3
-0

2
4
-0

7
8

S
p
ro

ck
et

s,
  
S

h
af

ts
  
&

  
G

ea
rb

o
x
es

1
003

-0
24

-0
79

Th
is

 g
ea

rb
ox

 is
 th

e 
sa

m
e 

as
03

-0
04

-1
61

 (t
o 

th
e 

rig
ht

) w
ith

on
e 

ex
ce

pt
io

n,
 th

e 
sp

ro
ck

et
 o

n
th

e 
le

ft 
si

de
 c

ha
ng

es
.

Pa
rt 

nu
m

be
r u

se
d 

on
ly

 b
y 

ou
r

Eu
ro

pe
an

 c
ou

nt
er

pa
rts

Sp
ro

ck
et

s, 
Sh

af
ts

 &
 G

ea
rb

ox
es



0
0
4

  
It
em
 #

  
 D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
#
1
2
2
0
 
  
 #
1
6
2
0
 
  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

O
u
te
r 
g
ea
rb
o
x
 a
ss
y
  
(w
it
h
 s
p
ro
ck
et
s)

0
3
-0
2
4
-0
7
8

0
4

4
6

In
te
rm
ed
ia
te
 g
ea
rb
o
x
 a
ss
y
  
( 
 "
  
 "
  
)

0
3
-0
2
4
-0
7
9

0
0

0
0

In
a
ct
iv
e 
p
a
rt
 n
u
m
b
er

In
n
er
 g
ea
rb
o
x
 a
ss
y
  
(w
it
h
 s
p
ro
ck
et
s)

0
3
-0
0
4
-1
6
1

1
2

1
2

1
4

1
8

1
O
u
te
r 
g
ea
rb
o
x
 a
ss
y
  
(w
/o
u
t 
sp
ro
ck
et
s)

0
3
-0
2
4
-0
8
1

0
0

0
0

  
  
  
"
  
  
  
  
 "
  
  
  
 "

2
G
ea
rb
o
x
 a
ss
em
b
ly
 (
w
/o
u
t 
sp
ro
ck
et
s)

2
-6
0
0
-2
3
2

sp
*

sp
sp

sp
S
ee
 n
o
te
  
*

3
  
  
  
  
  
N
o
 i
te
m
 o
n
 d
ra
w
in
g

4
C
o
v
er
, 
se
a
l

1
3
-0
1
6
-4
9
6

"
"

"
"

  
"
  
  
"

5
S
ea
l

Z
3
0
x
4
0
x
7

"
"

"
"

  
"
  
  
"

6
S
h
a
ft
, 
8
x
7
x
4
5

3
0
-0
0
4
-2
2
7

"
"

"
"

  
"
  
  
"

7
S
h
a
ft
, 
8
x
7
x
3
6

3
0
-0
0
4
-2
2
5

"
"

"
"

  
"
  
  
"

S
h
a
ft
, 
2
9
,5
 d
ia
m
et
er

3
0
-0
2
4
-0
8
3

0
0

0
0

In
a
ct
iv
e 
p
a
rt
 n
u
m
b
er

  
 S
p
ro
ck
et
, 
 1
6
 t
o
o
th

  
2
4
-0
2
4
-0
8
2

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
E
U
 p
a
rt
 n
o
.

8
S
p
ro
ck
et
, 
 1
6
 t
o
o
th

2
4
-0
2
4
-0
8
2
W

sp
sp

sp
sp

S
ee
 n
o
te
  
*

  
 S
p
ro
ck
et
, 
 1
6
 t
o
o
th

  
2
4
-0
2
4
-0
8
4

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
E
U
 p
a
rt
 n
o
.

9
S
p
ro
ck
et
, 
 1
6
 t
o
o
th

2
4
-0
2
4
-0
8
4
W

0
0

0
0

In
a
ct
iv
e 
p
a
rt
 n
u
m
b
er

  
 S
p
ro
ck
et
, 
 1
4
 t
o
o
th

  
2
4
-0
0
5
-8
8
1

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
E
U
 p
a
rt
 n
o
.

1
0

S
p
ro
ck
et
, 
 1
4
 t
o
o
th

2
4
-0
0
5
-8
8
1
W

sp
sp

sp
sp

S
ee
 n
o
te
  
*

S
p
ro
c
k
e
ts
, 
S
h
a
ft
s
 &
 G
e
a
rb
o
x
e
s

  
*
 S
er
v
ic
e 
p
ar
t.
  
 L
im
it
ed
 a
v
ai
la
b
li
ty

1
1

  
P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er
s



8

N
ot

e:
Fi

ll 
G

ea
rb

ox
 to

 L
ev

el
 S

cr
ew

 
w

ith
 8

0 
– 

90
 G

ea
r 

Lu
be

G
ea

rb
ox

 A
ss

em
bl

y

1
0

A
ll

 1
2
2
0
 g

ea
rb

o
x
es

, 
 i

n
n
er

 g
ea

rb
o
x
es

 1
8
2
0

1
2

03
-0

04
-1

61

G
ea

rb
ox

 A
ss

em
bl

y



0
0
5

  
It
em

 #
  
  
  
  
 D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
 #
1
2
2
0

  
 #
1
6
2
0
 

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

G
ea
rb
o
x
 A
ss
em

b
ly
, 
In
n
er

0
3
-0
0
4
-1
6
1

1
2

1
2

1
4

1
8

  
 S
ee
 n
o
te
*

1
C
o
v
er
 (
h
o
u
si
n
g
),
 s
h
a
ft

4
1
-0
1
6
-8
2
0

2
2

2
2

2
B
ea
ri
n
g
, 
d
ee
p
 g
ro
o
v
e,
 b
a
ll

6
3
0
6

2
2

2
2

S
K
F

3
S
h
a
ft
, 
1
 

3
0
-0
0
4
-2
2
5

1
1

1
1

4
O
il
 l
ev
el
 p
lu
g
 (
sc
re
w
)

M
1
6
x
1
.5

2
2

2
2

D
IN

 9
0
8

5
W
a
sh
er
, 
fl
a
t

M
1
6
F
W

2
2

2
2

6
G
ea
rb
o
x
 h
o
u
si
n
g

4
0
-0
0
4
-2
2
4

1
1

1
1

7
G
ea
r,
 m

a
in
 d
ri
v
e,
 p
in
io
n
, 
1
8
 t
o
o
th

2
2
-0
0
4
-2
2
8

2
2

2
2

  
 S
p
ro
ck
et
, 
1
4
 t
o
o
th

  
2
4
-0
0
5
-8
8
1

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
 E
U
 p
a
rt
 n
o
.

8
S
p
ro
ck
et
, 
1
4
 t
o
o
th

2
4
-0
0
5
-8
8
1
W

2
2

2
2

9
S
cr
ew

, 
h
ex
 c
a
p
, 
fl
t 
h
d
, 
g
ra
d
e 
8
.8

M
8
x
2
0

4
4

4
4

1
0

W
a
sh
er
, 
lo
ck

M
8
L
W

4
4

4
4

1
1

R
in
g
, 
sp
ri
n
g
 -
 g
a
sk
et

Y
3
0
x
5
2
x
1
0

2
2

2
2

1
2

R
in
g
, 
fa
st
en
er
  
(s
n
a
p
)

7
2
M
S
Z
2
3
1

2
2

2
2

1
3

K
ey
, 
fl
a
t,
 r
o
u
n
d
 e
n
d
 -
 8
x
7
x
2
5
m
m

3
4
-0
0
4
-2
3
5

2
2

2
2

1
4

S
h
a
ft
, 
g
ea
rb
o
x
 -
 v
er
ti
ca
l

3
0
-0
0
4
-2
2
7

1
1

1
1

O
ld
 P
/N
  
2
-6
0
0
-2
4
3
/3

1
5

K
ey
, 
fl
a
t,
 r
o
u
n
d
 e
n
d
 -
 8
x
7
x
3
6
m
m

3
4
-0
0
4
-2
1
4

2
2

2
2

1
6

K
ey
, 
8
x
7
x
4
5
m
m

3
4
-0
0
4
-1
8
3

1
1

1
1

  
 B
ea
ri
n
g
, 
d
ee
p
 g
ro
o
v
e,
 b
a
ll

  
6
2
0
6
-2
R
S
1

  
- 

 
  

- 
 

  
- 

 
  

- 
 

  
  
  
 E
U
 p
a
rt
 n
u
m
b
er

1
7

B
ea
ri
n
g
, 
d
ee
p
 g
ro
o
v
e,
 b
a
ll

6
2
0
6
-2
R
S
R

2
2

2
2

S
K
F

1
8

G
ea
rb
o
x
 (
h
o
u
si
n
g
) 
co
v
er

4
0
-0
0
4
-2
2
6

1
1

1
1

1
9

R
in
g
, 
sn
a
p

3
0
M
S
Z
2
3
2

1
1

1
1

2
0

S
ea
l

Z
3
0
x
4
0
x
7

1
1

1
1

2
1

C
o
v
er
, 
se
a
l

1
3
-0
1
6
-4
9
6

1
1

1
1

1
3

 P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m

o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
a
l 
u
n
it

G
e
a
rb
o
x
, 
e
x
p
lo
d
e
d
 v
ie
w
, 
li
s
t 
  
  
  
  
  
  
  
0
3
-0
0
4
-1
6
1

  
*
  
T
h
e 
1
2
 r
o
w
 h
ea
d
er
 h
as
 a
ll
 (
1
2
) 
g
ea
rb
o
x
es
 t
h
is
 s
iz
e.
  
T
h
e 
o
th
er
s 
h
av
e 
h
ea
v
ie
r 
o
u
te
r 
g
ea
rb
o
x
es
, 
p
ar
t 
n
u
m
b
er
 0
3
-0
2
4
-0
7
8
.

  
  
  
T
h
e 
q
u
an
ti
ti
es
 o
f,
 (
1
2
),
 (
1
4
) 
&
 (
1
8
) 
fo
r 
th
e 
o
th
er
 h
ea
d
er
s,
 r
ef
le
ct
s 
th
e 
m
ix
 o
f 
in
n
er
 a
n
d
 o
u
te
r 
g
ea
rb
o
x
es
. 



1
4

2
a2
a

2
b

0
3
-0

2
4
-0

7
9
  
 I

n
te

rm
ed

ia
te

 g
ea

rb
o
x

0
3
-0

2
4
-1

6
1
  
 I

n
n

er
 g

ea
rb

o
x

0
3
-0

2
4
-0

7
8
  
  
O

u
te

r 
g
ea

rb
o
x

G
ea

rb
o
x
  
cr

o
ss

 -
 s

ec
ti

o
n

s

0
3
-0

0
4
-1

6
1



 

0
0
6

  
It
em
 #

  
  
  
 D
es
cr
ip
ti
o
n

  
  
 P
a
rt
 #

  
#
1
2
2
0
 
  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

G
ea
rb
o
x
 a
ss
em
b
ly
, 
 (
w
/o
u
t 
sp
ro
ck
et
s)

0
3
-0
2
4
-0
8
1

 -
 

 -
 

 -
 

 -
 

In
a
ct
iv
e 
p
a
rt
 n
o
. 
(o
n
 l
ef
t)

G
ea
rb
o
x
 a
ss
em
b
ly
, 
 (
w
/o
u
t 
sp
ro
ck
et
s)

2
-6
0
0
-2
3
2

S
m
a
ll
er
 s
h
a
ft
  
  
 (
o
n
 r
ig
h
t)

1
C
a
se
, 
g
ea
rb
o
x

2
-6
0
0
-2
3
8

1
1

1
1

2
a

S
h
a
ft
, 
g
ea
rb
o
x
 -
 h
o
ri
zo
n
ta
l

3
0
-0
2
4
-0
8
3

0
1

1
1

2
9
,5
 D
ia
m
et
er
 (
m
et
ri
c)

2
b

S
h
a
ft
, 
g
ea
rb
o
x
 -
 h
o
ri
zo
n
ta
l

2
-6
0
0
-2
3
9

1
1

1
1

2
8
  
D
ia
m
et
er
  
 (
m
et
ri
c)

3
C
o
v
er
, 
g
ea
rb
o
x

2
-6
0
0
-2
4
2

1
1

1
1

S
T
A
M
  
  
4
0
-0
0
4
-2
2
6

4
S
h
a
ft
, 
g
ea
rb
o
x
 -
 v
er
ti
ca
l

3
0
-0
0
4
-2
2
7

1
1

1
1

W
W
P
  
 2
-6
0
0
-2
4
3
/3

5
G
ea
r,
 m
a
in
 d
ri
v
e 
- 
p
in
io
n
 -
 1
8
 t
o
o
th

2
-6
0
0
-2
4
4

2
2

2
2

6
C
o
v
er
  
  
  
  
 (
N
o
 i
te
m
 o
n
 d
ra
w
in
g
)

2
-6
0
0
-2
5
1

7
G
a
sk
et
, 
g
ea
rb
o
x
 c
o
v
er

6
3
-0
1
6
-3
7
1

1
1

1
1

8
H
o
u
si
n
g
, 
sh
a
ft

4
1
-0
1
6
-8
2
0

2
2

2
2

9
G
a
sk
et
, 
g
ea
rb
o
x

Y
3
0
x
5
2
x
1
0

3
3

3
3

S
ea
l

1
0

B
o
lt
, 
h
ex

M
8
x
2
0

4
4

4
4

1
1

W
a
sh
er
, 
lo
ck

M
8
L
W

4
4

4
4

1
2

K
ey
, 
fl
a
t 
-r
o
u
n
d
 e
n
d
 -
 8
x
7
x
2
5

3
4
-0
0
4
-2
3
5

2
2

2
2

1
3

B
ea
ri
n
g
, 
b
a
ll
 -
 d
ee
p
 g
ro
o
v
e

6
3
0
6

2
2

2
2

1
4

R
in
g
, 
fa
st
en
er
  
(s
n
a
p
)

7
2
M
S
Z
2
3
1

2
2

2
2

1
5

B
ea
ri
n
g
, 
b
a
ll
 -
 d
ee
p
 g
ro
o
v
e

6
2
0
6
-2
R
S
1

2
2

2
2

1
6

R
in
g
, 
sn
a
p

3
0
M
S
Z
2
3
2

1
1

1
1

G
e
a
r
b
o
x
 c
r
o
s
s
-s
e
c
ti
o
n

1
5

P
ie
ce
s 
p
er
 G
ea
rb
o
x

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
a
l 
g
ea
rb
o
x



Shafts, Sprockets, Bearings,

Keys, Hubs & Hardware

16

Outer Drive Shaft

Lower Connector Shaft

Center Drive Assembly



0
0
7

  
It

em
 #

  
D

es
cr

ip
ti
o
n

  
P
a
rt

 #
  
#
1
2
2
0
 

  
 #

1
6
2
0

  
 #

1
8
2
0

  
 #

2
4
2
0

  
R

em
a
rk

s

1
S
h
a
ft

, 
o
u
te

r 
d
ri

v
e 

- 
2
0
"

3
0
-0

2
4
-0

8
5

0
4

4
6

2
S
h
a
ft

, 
2
0
"
 r

o
w

3
0
-0

1
5
-7

7
8

1
0

1
0

1
2

1
6

3
S
h
a
ft

, 
ce

n
te

r 
- 
2
0
"

3
0
-0

1
5
-7

8
0

1
1

1
1

4
E

cc
en

tr
ic

 r
in

g
2
9
-0

0
5
-7

8
1

1
1

1
5

1
7

2
3

5
S
et

 s
cr

ew
, 
8
m

m
 x

 2
0
m

m
M

8
x
2
0
S
S

1
1

1
5

1
7

2
3

6
N

u
t,
 l
o
w

 h
ex

 -
 8

m
m

 x
 1

.2
5
m

m
M

8
x
2
0
L

H
N

1
1

1
5

1
7

2
3

7
K

ey
, 
fl
a
t 
- 
ro

u
n
d
 e

n
d
 -
 8

x
7
x
3
6
m

m
3
4
-0

0
4
-2

1
4

2
2

3
0

3
4

4
5

  
 S

p
ro

ck
et

 w
el

d
, 
1
0
B

, 
1
6
 t
o
o
th

  
2
4
-0

2
4
-0

8
2

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
E

U
 p

a
rt

 n
o
.

8
S
p
ro

ck
et

 w
el

d
, 
1
0
B

, 
1
6
 t
o
o
th

2
4
-0

2
4
-0

8
2
W

0
8

8
1
2

  
 S

p
ro

ck
et

, 
1
4
 t
o
o
th

 -
 c

o
n
n
ec

ti
n
g

  
2
4
-0

0
5
-8

8
1

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
E

U
 p

a
rt

 n
o
.

9
S
p
ro

ck
et

, 
1
4
 t
o
o
th

 -
 c

o
n
n
ec

ti
n
g

2
4
-0

0
5
-8

8
1
W

2
4

2
0

2
4

3
3

1
0

H
u
b
, 
b
ea

ri
n
g
 s
u
p
p
o
rt

4
0
-0

1
0
-0

8
7

1
1

1
1

1
1

F
la

n
g
et

te
, 
b
ea

ri
n
g
 -
 3

 h
o
le

P
F
5
2

2
2

2
2

1
2

Y
 b

ea
ri

n
g
 w

/ 
lo

ck
 c

o
ll
a
r 

&
 s
et

 s
cr

ew
Y

T
-2

0
5

1
1

1
1

1
3

  
 L
o
ck
in
g
 c
o
ll
a
r 
fo
r 
a
b
o
ve

  
  
 "

N
/A

N
/A

N
/A

N
/A

1
4

S
cr

ew
, 
h
ex

 c
a
p
 -
 8

x
3
5
m

m
M

8
x
3
5

3
3

3
3

1
5

W
a
sh

er
, 
lo

ck
 -
 8

m
m

M
8
L

W
3

3
3

3

1
6

N
u
t,
 h

ex
M

8
H

N
3

3
3

3

1
7

P
ie

ce
s 
p
er

 H
ea

d
er

 b
y
 m

o
d
el

 #

S
h
a
ft
s
, 
s
p
ro
c
k
e
ts
, 
b
e
a
ri
n
g
s
, 
k
e
y
s
, 
h
u
b
s
 &
 h
a
rd
w
a
re



14

A
rm

 A
ss

em
bl

y

1
8

01
-0

16
-3

70



0
0
8

  
It
em
 #

  
 D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

A
rm

 A
ss
em

b
ly

0
1
-0
1
6
-3
7
0

1
1

1
5

1
7

2
3

1
A
rm

 (
v
ib
ra
ti
o
n
 l
ev
er
) 
w
el
d
ed

0
2
-0
0
9
-1
5
0

1
1

1
1

2
P
la
st
ic
 b
u
sh
in
g
, 
P
A
6

6
9
-0
0
9
-1
5
2

1
1

1
1

3
S
et
 s
cr
ew

 w
/ 
ru
b
b
er
 (
m
u
sh
ro
o
m
) 
in
se
rt

0
1
-0
1
6
-3
5
0

1
1

1
1

4
N
u
t,
 l
o
w
 (
ja
m
) 
h
ex

M
1
2
L
H
N

1
1

1
1

5
S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
3
5

1
1

1
1

6
B
ea
ri
n
g
, 
b
al
l 
- 
d
ee
p
 g
ro
o
v
e

6
2
0
2
-2
R
S
1

1
1

1
1

S
K
F

7
S
p
ac
er
, 
b
ea
ri
n
g

3
1
-0
0
9
-1
5
9

1
1

1
1

8
W
as
h
er
, 
fl
at

M
1
0
F
W

1
1

1
1

9
W
as
h
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

1
0

N
u
t,
 h
ex
, 
M
1
0
-1
.5
, 
p
la
te
d

M
1
0
H
N

1
1

1
1

 A
rm
 A
s
s
e
m
b
ly
  
  
  
  
  
  
  
  
P
a
rt
 N
o
. 
  
0
1
-0
1
6
-3
7
0

1
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it





0
0
9

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

1
A
u
g
er
 t
u
b
e 
w
ld
m
t,
 1
2
2
0

0
2
-0
1
5
-9
3
0

1

1
A
u
g
er
 t
u
b
e 
w
ld
m
t,
 1
6
2
0

0
2
-0
1
8
-9
7
8

1

1
A
u
g
er
 t
u
b
e 
w
ld
m
t,
 1
8
2
0

0
2
-0
1
8
-9
7
9

1

1
A
u
g
er
 a
ss
y
, 
w
/ 
ce
n
te
r 
su
p
p
o
rt

0
1
-0
0
1
-9
5
9

1
S
ee
 p
ag
es
 2
4
 &
 2
5

2
E
n
d
p
la
te
 a
ss
y
, 
L
H
, 
co
m
m
o
n

0
1
-0
1
6
-8
3
7

1
1

1
1

3
E
n
d
p
la
te
 a
ss
y
, 
R
H
, 
si
n
g
le
 d
ri
v
e

0
1
-0
1
6
-8
3
5

1
0

0
0

3
E
n
d
p
la
te
 a
ss
y
, 
R
H
, 
d
o
u
b
le
 d
ri
v
e

0
1
-0
2
0
-0
2
6

0
1

1
1

4
S
cr
ew

, 
h
ex
 c
ap
 1
2
x
5
5
m
m

M
1
2
x
5
5

2
2

2
2

5
W
as
h
er
, 
fl
at

M
1
2
F
W

1
4

1
4

1
4

1
4

6
W
as
h
er
, 
lo
ck

M
1
2
L
W

1
8

1
8

1
8

1
8

7
N
u
t,
 h
ex

M
1
2
H
N

2
2

2
2

2
2

2
2

8
B
o
lt
, 
ca
rr
ia
g
e

M
1
2
x
3
5
C
B

8
8

8
8

9
S
cr
ew

, 
h
ex
 c
ap
 -
 f
u
ll
 t
h
re
ad

M
1
2
x
7
0

2
2

2
2

1
0

P
ad
d
le
, 
fe
ed
 -
 a
d
ju
st
ab
le

1
7
-0
1
6
-9
0
1

0
1
4

1
6

2
2

O
p
ti
o
n
al
 f
ea
tu
re
 f
o
r 
1
2
 r
o
w

1
1

B
o
lt
, 
ca
rr
ia
g
e,
 3
/8
N
C
 x
 1
",
 G
r5

9
0
0
-0
1
6
9
5

0
2
8

3
2

4
4

1
2

N
u
t,
 h
ex
 f
la
n
g
e,
 t
o
p
lo
ck
, 
3
/8
N
C

9
0
0
-0
6
5
3
0

0
2
8

3
2

4
4

C
ro
s
s
 A
u
g
e
r 
M
o
u
n
ti
n
g

  
  
F
o
r 
d
et
ai
ls
 o
f 
en
d
p
la
te
 s
u
b
-a
ss
em

b
li
es
 -
 L
H
 &
 R
H
, 
 s
ee
 n
ex
t 
tw
o
 p
ag
es

2
1

  
P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



2
2

C
ro

ss
 A

u
g
er

 M
o
u

n
ti

n
g
 E

n
d

p
la

te
s

E
n

d
p

la
te

 A
ss

y
, 
L

ef
t 

H
a
n

d

C
o
m

m
o
n
 d

ri
v
in

g
 e

n
d
 f

o
r

b
o
th

 1
2
2
0
 &

 1
8
2
0

P
ar

t 
n
o
. 
0
1
-0

1
6
-8

3
7

E
n

d
p

la
te

 A
ss

y
, 
R

ig
h

t 
H

a
n

d

N
o
n
-d

ri
v
in

g
 e

n
d
 f

o
r 

1
2
2
0
  
(s

h
o
w

n
)

D
o
u
b
le

 d
ri

v
e 

fo
r 

1
8
2
0
  
  
  
 (

si
m

il
ar

)

F
o
r 

m
o
d
el

 1
2
2
0
  
- 

 p
ar

t 
n
o
. 
0
1
-0

1
6
-8

3
5

F
o
r 

m
o
d
el

 1
8
2
0
  
- 

 p
ar

t 
n
o
. 
0
1
-0

2
0
-0

2
6

S
in

g
le

 d
ri

v
e 

en
d
 f

o
r 

1
2
2
0
  
 (

sh
o
w

n
)

D
o
u
b
le

 d
ri

v
e 

en
d
 f

o
r 

1
8
2
0
  
(s

im
il

ar
)

6
6

C
om

m
on

 fo
r a

ll 
LH

 e
nd

 d
riv

es
on

 a
ll 

20
" 

he
ad

er
s

Si
ng

le
 d

riv
e 

en
d 

fo
r 1

22
0 

  (
sh

ow
n)

D
ou

bl
e 

dr
iv

e 
en

d 
fo

r 1
62

0,
 1

82
0 

&
 2

42
0 

 (s
im

ila
r)

Fo
r m

od
el

  1
22

0 
on

ly
   

   
   

-  
   

   
pa

rt 
no

. 0
1-

01
6-

83
5

Fo
r m

od
el

 1
62

0,
 1

82
0 

&
 2

42
0 

 - 
 p

ar
t n

o.
 0

1-
02

0-
02

6



0
1
0

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

 #
1
2
2
0
  
#
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

E
n
d
p
la
te
 a
ss
y
 -
 L
H

0
1
-0
1
6
-8
3
7

1
1

1
1

C
o
m
m
o
n
, 
L
H
 d
ri
v
e

E
n
d
p
la
te
 a
ss
y
 -
 R
H

0
1
-0
1
6
-8
3
5

1
0

0
0

S
in
g
le
 d
ri
v
e 
en
d
, 
1
2
2
0

E
n
d
p
la
te
 a
ss
y
 -
 R
H

0
1
-0
2
0
-0
2
6

0
1

1
1

D
o
u
b
le
 d
ri
v
e,
 1
6
, 
1
8
 &

 2
4
2
0

1
S
h
af
t,
 s
p
ro
ck
et
 -
 L
H

3
0
-0
1
6
-8
4
1

1
1

1
1

L
H
 e
n
d

2
S
h
af
t,
 s
p
ro
ck
et
 -
 R
H

3
0
-0
1
6
-8
3
9

1
0

0
0

S
in
g
le
 d
ri
v
e 
en
d

2
S
h
af
t,
 s
p
ro
ck
et
 -
 R
H

3
0
-0
2
0
-0
2
7

0
1

1
1

D
o
u
b
le
 d
ri
v
e

3
P
la
te
, 
m
o
u
n
ti
n
g
 -
 c
ro
ss
 a
u
g
er

1
4
-0
1
0
-0
9
3

2
2

2
2

C
o
m
m
o
n

4
H
o
u
si
n
g
, 
Y
-B

ea
ri
n
g
 -
 c
as
t

F
Y
-5
0
8

2
2

2
2

  
  
  
 "

5
  
 Y
 b
ea
ri
n
g
 w
/ 
ta
p
er
ed
 b
u
sh
in
g

H
2
0
8

2
2

2
2

  
  
  
 "
  
  
  
  
  
  
  
 (
in
 i
te
m
 6
)

6
Y
-b
al
l 
b
ea
ri
n
g
 a
ss
y

1
7
2
6
2
0
8
2
R
S
R

2
2

2
2

  
  
  
 "

7
  
 W

as
h
er
, 
lo
ck
–
1
 i
n
t 
ta
b
–
1
3
 e
x
t

M
B
8

2
2

2
2

  
  
  
 "
  
  
  
  
  
  
  
 (
in
 i
te
m
 6
)

8
  
 N
u
t,
 r
o
u
n
d
 –
 M

4
0
x
1
.5
 x
 9
m
m
*

K
M
8

2
2

2
2

  
  
  
 "
  
  
  
  
  
  
  
 (
in
 i
te
m
 6
)

9
C
ar
ri
ag
e 
b
o
lt

M
1
2
x
3
5
C
B

8
8

8
8

  
  
  
 "

1
0

W
as
h
er
, 
fl
at

M
1
2
F
W

8
8

8
8

  
  
  
 "

1
1

W
as
h
er
, 
lo
ck

M
1
2
L
W

8
8

8
8

  
  
  
 "

1
2

N
u
t,
 h
ex

M
1
2
H
N

8
8

8
8

  
  
  
 "

1
3

K
ey
, 
fl
at
, 
rn
d
 e
n
d
 -
 1
2
x
8
x
5
6
m
m

3
4
-0
0
4
-1
6
8

2
2

2
2

  
  
  
 "

1
4

K
ey
, 
fl
at
, 
rn
d
 e
n
d
 -
 1
0
x
8
x
7
0
m
m

3
4
-0
1
0
-1
1
2

2
4

4
4

  
  
*
 9
m
m
 =
 .
3
5
4
 i
n
ch
es

E
n
d
p
la
te
 a
s
s
y
, 
c
ro
s
s
 a
u
g
e
r

2
3

  
P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



S
C
A
L
E
 1
 /
 5
0

D
E
T
A
IL
  
B

S
C
A
L
E
 1
 /
 1
0

D
E
T
A
IL
  
A

S
C
A
L
E
 1
 /
 1
5

B

A

1

2

3

4

5

6

7

8

9

1
0

1
8

1
1

1
2

1
3

1
4

1
5

1
1

1
6

1
7

16
30

 M
od

el
C

ro
ss

 A
ug

er
s, 

 L
ef

t &
 R

ig
ht

C
en

te
r 

Su
pp

or
t

01
-0

01
-9

66

26

01
-0

01
-9

59

24
20

 M
od

el
24



 0
1
1

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
  
 #
1
2
2
0
  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

C
en
te
r 
su
p
p
o
rt
, 
au
g
er
 -
 2
4
2
0

0
1
-0
0
1
-9
5
9

0
0

0
1

1
B
ea
ri
n
g
, 
4
 b
o
lt
 f
la
n
g
e 
- 
2
B

6
1
0
-0
-0
0
0
6

0
0

0
1

V
en
d
o
r 
- 
U
C
F
2
1
1
-3
2

2
S
h
af
t,
 c
o
n
n
ec
ti
n
g
 -
 h
ex
 -
 1
-1
/2

3
0
-0
2
0
-0
2
9

0
0

0
1

3
N
u
t,
 f
la
n
g
e 
- 
se
rr
at
ed
 -
 5
/8
N
C

9
0
0
-0
6
1
4
5

0
0

0
4

4
C
o
ll
ar
, 
lo
ck
in
g
 -
 h
ex

0
2
-0
0
9
-1
8
8

0
0

0
2

5
A
u
g
er
, 
L
H
 -
 s
u
p
p
o
rt
in
g
 c
n
tr
 b
rg

0
2
-0
1
8
-9
8
4

0
0

0
1

6
A
u
g
er
, 
R
H
 -
 s
u
p
p
o
rt
in
g
 c
n
tr
 b
rg

0
2
-0
1
8
-9
8
5

0
0

0
1

7
B
u
sh
in
g
, 
h
ex
 -
 1
3
" 
au
g
er

1
0
0
-3
-4
2
0
8

0
0

0
1

8
B
o
lt
, 
5
/8
 x
 2
 -
 h
ex
 -
 G
r 
5

9
0
0
-0
1
3
4
5

0
0

0
4

9
B
o
lt
, 
3
/8
 x
 3
-1
/4
 -
 h
ex
 -
 G
r5

9
0
0
-0
1
1
2
7

0
0

0
2

1
0

N
u
t,
 3
/8
U
N
C
 -
 t
o
p
lo
ck
 -
 h
ex
 

9
0
0
-0
6
5
0
0

0
0

0
2

1
1

N
u
t,
 1
/2
U
N
C
 -
 t
o
p
lo
ck
 -
 Z
P

9
0
0
-0
6
5
0
4

0
0

0
4

1
2

R
o
d
 w
el
d
m
en
t,
 t
ak
e-
u
p

0
2
-0
1
6
-3
0
1

0
0

0
1

1
3

N
u
t,
 5
/8
U
N
C
 -
 h
ex
 -
 Z
P

9
0
0
-0
6
0
1
3

0
0

0
3

1
4

B
ea
ri
n
g
 r
et
ai
n
er
 w
el
d
m
en
t

0
2
-0
1
6
-3
0
0

0
0

0
1

A
ft
er
 s
er
ia
l 
n
o
. 
1
1
7
0
6

1
5

W
as
h
er
, 
1
/2
 -
 f
la
t

9
0
0
-1
1
0
3
5

0
0

0
2

1
6

A
n
ch
o
r,
 t
ak
e-
u
p

1
3
-0
1
1
-3
0
2

0
0

0
2

1
7

B
o
lt
, 
1
/2
 x
 1
-3
/4
 -
 G
5

9
0
0
-0
1
2
2
7

0
0

0
2

1
8

B
o
lt
, 
1
/2
 x
 1
-1
/2
 -
 c
ar
ri
ag
e 
- 
G
r5

9
0
0
-0
1
7
5
1

0
0

0
2

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

  
C
e
n
te
r 
S
u
p
p
o
rt
, 
 2
 C
ro
s
s
 A
u
g
e
rs
  
  
  
 -
  
  
  
 0
1
-0
0
1
-9
5
9

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it

2
5



Single Drive
1220 Row Header

Double Drive
1620, 1820 & 2420 Row Headers

26

S1

S2

S2

S3

D1

D2

Left End
Common

S1
S2

S2



The Two Drive Systems Defined

Single drive - S1

Single  drive,  as  seen  in  the  upper picture  on
page 26, has one PTO hook-up on the left side,
S1 and the red arrow below.  It has only one slip
clutch with varying quantities of spring plates. It
has  a  sprocket  drive  on  the  right  side  for  the
right hand half of the lower gearboxes.

Left side PTO drive hook-up

Inside the left shield you will see the chains and
sprockets that drive the cross auger  S2 and the
left  half of the lower or  gearbox drive shafts,
S2.   See  picture  below  and  upper picture  on
page 26.

Left side drive

This  side  is  common  (except  for  quantity  of
spring plates) to both single and double drives.  

The next picture on this page is of the right hand
end of the single drive, driving the right half of
the gearboxes, S3.

Right side, single drive 

Double drive – D1

The double drive, as the name implies,  has  two
PTO input drive shafts and two slip clutches. One
PTO on each side of the feeder housing opening,
S1 and  D1 and slip clutches on both  ends.  The
right end will look much like the left end, but with
an two unseen differences.  See picture below and
the  lower picture on page 26.

Right side,  double drive 

The differences are stated in the larger text box
above.  The double drive splits the torque load on
the left side drive.  See the yellow arrows in the
lower picture on page 26.  D2 pulls off half of the
gearbox load. 

The quantity of spring plates in the clutches and
the pressure settings vary with the row size and
the load each clutch is expected to carry.  The next
10  or  12  pages  in  this  book  will  have  the
recommended  slip clutch settings in the remarks
column. 

27

First slip clutch and 
the cross auger drive

Left
gearbox 

drive 
shaft

Double sprocket driving 
the lower gearboxes, 

right hand half

Right 
gearbox 

drive 
shaft

First 
PTO

Second 
PTO

Right 
gearbox 

drive 
shaft

Second slip clutch and 
cross auger drive



20

   
   

   
   

   
   

   
   

   
   

   
   

   
D

ri
ve

 A
ss

em
bl

y 
 (R

.H
.)

   
   

   
   

   
   

   
   

   
   

   
   

   
D

ri
ve

 A
ss

em
bl

y 
 (L

.H
.)

2
4

S
in

g
le

 d
ri

v
e 

fo
r 

1
2
2
0

D
ri

v
e 

fo
r 

1
2
2
0

0
1
-0

1
6
-8

2
9

0
1
-0

1
6
-8

3
3

0
1
-0

0
1
-8

2
9

0
1
-0

0
1
-8

3
3

2
6

1
3

28



0
1
2

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
#
1
2
2
0

  
#
1
6
2
0
 *
  
 #
1
8
2
0
 *
  
 #
2
4
2
0
 *
  
R
em
a
rk
s

S
in
g
le
 d
ri
v
e 
as
sy
 R
H
, 
1
2
2
0

0
1
-0
0
1
-8
2
9

1

D
ri
v
e 
as
sy
 L
H
, 
w
/ 
cl
u
tc
h
 -
 1
2
2
0

0
1
-0
0
1
-8
3
3

1

1
C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy

0
3
-0
1
6
-8
4
3

2

2
C
lu
tc
h
 &
 s
p
ro
ck
et
 a
ss
y
-1
2
,1
6
,1
8
 

0
5
-0
2
4
-1
0
1

1
 1
2
5
0
N
m
  
  
=
  
  
  
9
0
0
 F
t 
L
b

3
S
p
ro
ck
et
, 
d
o
u
b
le
 -
 3
3
 t
o
o
th

0
7
-0
1
6
-8
4
9

1

4
C
h
ai
n
 t
en
si
o
n
er
 a
ss
y

0
6
-0
1
6
-8
5
0

2

5
W
as
h
er
, 
fl
at

M
1
0
F
W

1
6

6
S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
4
5

8

7
W
as
h
er
, 
lo
ck

M
1
0
L
W

8

8
N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
0
H
N

8

9
C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
8
2
 l
in
k

1
2
B
2

2

1
0

C
h
ai
n
 c
o
n
n
ec
to
r,
 d
b
l 
ro
ll
er
 -
 s
tr
ai
g
h
t

C
L
1
2
B
2

7
 4
 p
ie
ce
 s
et

1
1

C
h
ai
n
 c
o
n
n
ec
to
r,
 d
b
l 
ro
ll
er
 -
 o
ff
se
t

O
L
1
2
B
2

7
 4
 p
ie
ce
 s
et

1
2

S
p
ro
ck
et
, 
d
o
u
b
le
 c
h
ai
n

(S
ee
 R
H
 c
o
lu
m
n
)

1
C
h
ai
n
 l
en
g
th
 d
ep
en
d
s 
o
n
 c
o
m
b
in
e

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
0
 t
o
o
th

2
4
-0
0
5
-8
2
9

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
1
 t
o
o
th

2
4
-0
0
9
-2
4
1

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
2
 t
o
o
th

2
4
-0
0
9
-2
4
3

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
3
 t
o
o
th

2
4
-0
0
5
-8
1
7

 A
s 
re
q
u
ir
ed
 t
o
 m
at
ch
 c
o
m
b
in
e

1
3

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
4
 t
o
o
th

2
4
-0
0
5
-8
2
7

 f
ee
d
er
 h
o
u
si
n
g
 a
n
d
 s
p
ee
d
 o
f

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
5
 t
o
o
th

2
4
-0
0
5
-8
2
8

 c
o
m
b
in
e 
d
ri
v
e

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
6
 t
o
o
th

2
4
-0
0
5
-8
2
6

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
8
 t
o
o
th

2
4
-0
0
5
-8
2
5

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 2
0
 t
o
o
th

2
4
-0
0
5
-9
2
3

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 2
2
 t
o
o
th

2
4
-0
0
9
-2
4
2

1
4

W
as
h
er

M
1
6
F
W

2

1
5

H
ai
r 
p
in
 k
ey
,5
/3
2
 -
 #
9

9
0
0
-2
5
0
0
5

2

1
6

W
as
h
er
, 
sh
im
 -
 1
m
m
  
(m
ac
h
 b
u
sh
in
g
)

1
3
-0
0
5
-9
9
3

2
O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

1
7

W
as
h
er
, 
sp
ac
er
 -
 2
m
m
  
( 
  
" 
  
  
  
" 
  
  
)

1
3
-0
0
5
-9
9
4

2
O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

1
8

B
u
sh
in
g
, 
sp
ac
er

3
1
-0
1
6
-8
2
0

2

1
9

W
as
h
er
, 
fl
at

1
3
-0
1
6
-8
4
2

2

2
0

W
as
h
er
, 
lo
ck

M
1
0
L
W

2

2
1

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
5

2

2
2

C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
_
_
_
 l
in
k

1
2
B
2

1

D
ri
v
e
 A
s
s
e
m
b
ly
  
(R
H
 &
 L
H
) 
- 
1
2
2
0

*
 F
o
r 
1
6
2
0
, 
1
8
2
0
 a
n
d
 2
4
2
0
 -
 s
ee
 n
ex
t 
fo
u
r 
p
ag
es

2
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

A
s 
re
q
u
ir
ed





0
1
3

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0
 *

  
 #
1
6
2
0

  
 #
1
8
2
0

  
R
em
a
rk
s

D
o
u
b
le
 e
n
d
 d
ri
v
e 
as
sy
, 
R
H

0
1
-0
2
4
-0
7
4

1
1

1
C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy
 k
it

0
3
-0
1
6
-8
4
4

1
1

S
ee
 p
p
 3
4
, 
3
5

1
C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy

0
3
-0
1
6
-8
4
3

1
1

 "
  
  
  
" 
  
 "
  
  
"

2
C
lu
tc
h
 I
I 
&
 s
p
ro
ck
et
 a
ss
y
 /
 1
6
 (
&
 1
8
) 

0
5
-0
2
4
-1
0
2

1
1

7
5
0
N
m
  
  
  
  
  
 5
0
0
 F
t 
L
b

3
C
h
ai
n
 t
en
si
o
n
er
 a
ss
y

0
6
-0
1
6
-8
5
0

2
2

4
W
as
h
er
, 
sh
im

 -
1
m
m
  
 (
m
ac
h
 b
u
sh
in
g
)

1
3
-0
0
5
-9
9
3

2
2

O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

5
W
as
h
er
, 
sp
ac
er
 -
 2
m
m
  
( 
  
" 
  
  
  
" 
  
  
)

1
3
-0
0
5
-9
9
4

2
2

O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

6
S
le
ev
e,
 s
p
ac
er

3
1
-0
1
6
-8
2
0

1
1

7
W
as
h
er
, 
2
" 
sp
ec
ia
l

1
0
0
-3
-3
6
4
8

1
1

8
W
as
h
er
, 
lo
ck

M
1
0
L
W

1
1

9
H
ex
 h
ea
d
 c
ap
 s
cr
ew

M
1
0
x
2
5

1
1

1
0

H
ex
 h
ea
d
 c
ap
 s
cr
ew

M
1
0
x
4
5

4
4

1
1

W
as
h
er
, 
fl
at

M
1
0
F
W

8
8

1
2

W
as
h
er
, 
lo
ck

M
1
0
L
W

4
4

1
3

H
ex
 N
u
t,
 p
la
te
d

M
1
0
H
N

4
4

1
4

W
el
d
 h
u
b
 &

 d
b
le
 s
p
ro
ck
et
, 
1
6
 t
o
o
th

2
4
-0
2
4
-0
8
4
W

1
1

1
5

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
3
 t
o
o
th

2
4
-0
0
5
-8
1
7

1
1

1
6

W
as
h
er
, 
fl
at

M
1
6
F
W

1
1

1
7

H
ai
r 
p
in
 k
ey
, 
5
/3
2
 -
 #
9

9
0
0
-2
5
0
0
5

1
1

1
8

C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
_
_
_
 l
in
k

1
2
B
2

1
1

8
2

1
9

C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
_
_
_
 l
in
k

1
2
B
2

1
1

1
0
8

2
0

C
h
ai
n
 c
o
n
n
ec
to
r 
li
n
k
, 
d
o
u
b
le

C
L
1
2
B
2

2
2

2
1

  
  
(C
li
p
 f
o
r 
ab
o
v
e)

  
  
  
 "
  
  
 

"
"

*
  
F
o
r 
1
2
2
0
 -
 s
ee
 p
ag
es
 2
6
 a
n
d
 2
7

  
P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 #

D
o
u
b
le
 E
n
d
 D
ri
v
e
 A
s
s
y
, 
 R
ig
h
t 
H
a
n
d
  
 -
  
 1
6
2
0
 &
 1
8
2
0

3
1



3
0

E
n

d
 D

ri
v
e 

A
ss

em
b

ly
, 
 R

ig
h

t 
H

a
n

d

D
o
u

b
le

 D
ri

v
e 

 -
  
1
8
2
0

P
ar

t 
N

o
. 
 0

1
-0

2
4
-0

7
4

3
0

D
o
u

b
le

 D
ri

v
e 

 -
  
1
6
2
0
  
&

  
1
8
2
0

D
ou

bl
e 

D
ri

ve
  -

  1
62

0,
  1

82
0 

 &
  2

42
0

32



0
1
4

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0
 *
  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

D
o
u
b
le
 e
n
d
 d
ri
v
e 
as
sy
, 
R
H

0
1
-0
2
4
-0
7
4

1
1

1

1
C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy
 k
it

0
3
-0
1
6
-8
4
4

1
1

1
S
ee
 p
p
 3
4
, 
3
5

1
C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy

0
3
-0
1
6
-8
4
3

1
1

1
  
" 
  
  
" 
  
 "
  
  
"

2
C
lu
tc
h
 I
I 
&
 s
p
ro
ck
et
 a
ss
y
 /
 1
6
, 
1
8
, 
2
4
 

0
5
-0
2
4
-1
0
2

1
1

1
7
5
0
N
m
  
  
  
  
  
 5
0
0
 F
t 
L
b

3
C
h
ai
n
 t
en
si
o
n
er
 a
ss
y

0
6
-0
1
6
-8
5
0

2
2

2

4
W
as
h
er
, 
sh
im

 -
1
m
m
  
 (
m
ac
h
 b
u
sh
in
g
)

1
3
-0
0
5
-9
9
3

2
2

2
O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

5
W
as
h
er
, 
sp
ac
er
 -
 2
m
m
  
( 
  
" 
  
  
  
" 
  
  
)

1
3
-0
0
5
-9
9
4

2
2

2
O
r 
as
 r
eq
u
ir
ed
 f
o
r 
al
ig
n
m
en
t

6
B
u
sh
in
g
, 
sp
ac
er

3
1
-0
1
6
-8
2
0

1
1

1

7
W
as
h
er
, 
2
" 
sp
ec
ia
l

1
0
0
-3
-3
6
4
8

1
1

1

8
W
as
h
er
, 
lo
ck

M
1
0
L
W

1
1

1

9
H
ex
 h
ea
d
 c
ap
 s
cr
ew

M
1
0
x
2
5

1
1

1

1
0

H
ex
 h
ea
d
 c
ap
 s
cr
ew

M
1
0
x
4
5

4
4

4

1
1

W
as
h
er
, 
fl
at

M
1
0
F
W

8
8

8

1
2

W
as
h
er
, 
lo
ck

M
1
0
L
W

4
4

4

1
3

H
ex
 N
u
t,
 p
la
te
d

M
1
0
H
N

4
4

4

1
4

W
el
d
 h
u
b
 &

 d
b
le
 s
p
ro
ck
et
, 
1
6
 t
o
o
th

2
4
-0
2
4
-0
8
4
W

1
1

1

1
5

S
p
ro
ck
et
, 
d
o
u
b
le
 -
 1
3
 t
o
o
th

2
4
-0
0
5
-8
1
7

1
1

1

1
6

W
as
h
er
, 
fl
at

M
1
6
F
W

1
1

1

1
7

H
ai
r 
p
in
 k
ey
, 
5
/3
2
 -
 #
9

9
0
0
-2
5
0
0
5

1
1

1

1
8

C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
_
_
_
 l
in
k

1
2
B
2

1
1

1
8
2

1
9

C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
, 
_
_
_
 l
in
k

1
2
B
2

1
1

1
1
0
8

2
0

C
h
ai
n
 c
o
n
n
ec
to
r 
li
n
k
, 
d
o
u
b
le

C
L
1
2
B
2

2
2

2

2
1

  
  
(C
li
p
 f
o
r 
ab
o
v
e)

  
  
  
 "
  
  
 

"
"

"

*
  
F
o
r 
1
2
2
0
 -
 s
ee
 p
ag
es
 2
8
 a
n
d
 2
9

3
3

  
P
ie
ce
s 
p
er
 H
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

D
o
u
b
le
 E
n
d
 D
ri
v
e
 A
s
s
y
, 
 R
ig
h
t 
H
a
n
d
  
 -
  
 1
6
2
0
, 
  
1
8
2
0
  
 &
  
 2
4
2
0



22

Tr
an

sm
is

sio
n 

Sh
af

t A
ss

em
bl

y

3
2

03
-0

16
-8

43

34

C
on

ne
ct

in
g 

Sh
af

t A
ss

em
bl

y



0
1
5

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

C
o
n
n
ec
ti
n
g
 s
h
af
t 
as
sy

0
3
-0
1
6
-8
4
3

2
2

2
2

1
S
p
ro
ck
et
, 
1
4
 t
o
o
th

2
4
-0
1
6
-4
2
5

1
1

1
1

2
B
ea
ri
n
g
, 
d
ee
p
 g
ro
o
v
e,
 b
al
l 
w
/s
ea
l

6
0
0
7
-2
R
S
1

2
2

2
2

S
K
F

3
S
n
ap
 r
in
g

6
2
M
S
Z
2
3
1

2
2

2
2

4
S
h
af
t

3
0
-0
1
6
-8
5
1

1
1

1
1

5
K
ey
, 
8
x
7
x
3
6
m
m

3
4
-0
0
4
-2
1
4

1
1

1
1

6
H
o
u
si
n
g
, 
b
ea
ri
n
g

4
0
-0
0
4
-2
0
9

1
1

1
1

7
S
p
ac
er

3
1
-0
1
6
-8
5
2

1
1

1
1

8
W
as
h
er
, 
sh
im

  
  
  
  
  
  
1
 m

m
1
3
-0
0
5
-9
9
3

1
1

1
1

O
r 
as
 n
ee
d
ed

9
W
as
h
er
, 
sp
ac
er
  
  
  
  
 2
 m

m
1
3
-0
0
5
-9
9
4

1
1

1
1

O
r 
as
 n
ee
d
ed

1
0

S
p
ro
ck
et
, 
d
b
l 
ch
ai
n
, 
1
5
 t
o
o
th

2
4
-0
0
5
-8
2
8

1
1

1
1

1
1

W
as
h
er
, 
fl
at

1
3
-0
0
5
-8
3
0

1
1

1
1

1
2

W
as
h
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

1
3

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
1

1
1

C
o
n
n
e
c
ti
n
g
 S
h
a
ft
 A
s
s
y
  
  
- 
  
  
0
3
-0
1
6
-8
4
3

3
5

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it





0
1
6

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

C
lu
tc
h
 /
 s
p
ro
ck
et
 a
ss
y
, 
L
H
,

0
5
-0
1
6
-8
4
8

1
1
2
5
0
N
m
  
  
 9
0
0
 f
t 
lb

1
2
 r
o
w

C
lu
tc
h
 /
 s
p
ro
ck
et
 a
ss
y
, 
L
H
,

0
5
-0
2
4
-1
0
1

1
1

1
1
5
0
0
N
m
  
  
1
0
5
0
 f
t 
lb

1
6
, 
1
8
 &

 2
4
 r
o
w

1
B
ac
k
 p
la
te
, 
o
u
te
r

2
9
-0
1
6
-8
6
7

1
1

1
1

2
F
ri
ct
io
n
 d
is
k
, 
cl
u
tc
h

R
O
N
A
 6
3
/T
A
U

4
4

4
4

3
C
o
ll
ar
, 
b
ac
k
in
g
 p
la
te

2
9
-0
1
6
-8
6
8

1
1

1
1

4
B
ac
k
 p
la
te
, 
in
n
er

2
9
-0
1
6
-8
6
9

1
1

1
1

5
S
p
ro
ck
et
 a
ss
y
, 
m
ai
n

0
7
-0
1
6
-8
6
6

1
1

1
1

6
B
an
d

1
4
-0
1
6
-8
5
9

1
1

1
1

7
S
p
ro
ck
et
 a
ss
y
, 
d
ri
v
en
 -
 P
T
O

0
7
-0
1
6
-8
6
5

1
1

1
1

8
S
p
ri
n
g
 p
la
te

0
4
3
 4
9
1

2
3

3
3

9
C
o
ll
ar
, 
p
re
ss
u
re

2
9
-0
1
6
-8
7
0

1
1

1
1

1
0

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
8
0

6
  
-
  

  
-
  

  
-
  

 "
 

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
9
0

  
- 
 

6
6

6

1
1

L
o
ck
 t
ab
, 
cl
u
tc
h
 a
ss
y

1
3
-0
0
4
-3
0
5

  
- 
 

1
1

1

C
lu
tc
h
 /
 S
p
ro
c
k
e
t 
a
s
s
y
, 

3
7

  
L
e
ft
 H
a
n
d
 -
 1
2
, 
1
6
, 
1
8
 &
 2
4

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er





 R
ig
h
t 
H
a
n
d
 -
 1
2
, 
1
6
, 
 1
8
  
&
  
2
4

0
1
7

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0
 *

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

C
lu
tc
h
 -
 s
p
ro
ck
et
 a
ss
y
, 
R
H
, 
1
2
2
0

0
1
-0
0
1
-8
2
9

1
S
ta
n
d
ar
d

  
  
" 
  
  
  
  
  
 "
  
  
  
  
  
  
" 
  
  
 "
  
  
  
 "

  
  
0
5
-0
2
4
-1
0
2
 *

1
  
  
  
 O
p
ti
o
n
al

C
lu
tc
h
 /
 s
p
ro
ck
et
 a
ss
y
, 
R
H
, 
1
6
, 
1
8
 &
 2
4
2
0

0
5
-0
2
4
-1
0
2

1
1

1
  
 1
5
0
0
N
m
  
  
1
0
5
0
 f
t 
lb

  
  
  
(S
ta
n
d
ar
d
)

1
S
p
ro
ck
et
 a
ss
y
, 
d
ri
v
en
 -
 P
T
O

0
7
-0
2
4
-1
0
3

1
1

1
1

2
B
an
d

1
4
-0
1
6
-8
5
9

1
1

1
1

3
F
ri
ct
io
n
 d
is
k
, 
cl
u
tc
h

R
O
N
A
 6
3
/T
A
U

4
4

4
4

4
S
p
ro
ck
et
 a
ss
y
, 
m
ai
n

0
7
-0
1
6
-8
6
6

1
1

1
1

5
B
ac
k
 p
la
te
, 
in
n
er

2
9
-0
1
6
-8
6
9

1
1

1
1

6
C
o
ll
ar
, 
b
ac
k
in
g
 p
la
te

2
9
-0
1
6
-8
6
8

1
1

1
1

7
B
ac
k
 p
la
te
, 
o
u
te
r

2
9
-0
1
6
-8
6
7

1
1

1
1

8
S
p
ri
n
g
 p
la
te

0
4
3
 4
9
1

2
2

2
2

9
C
o
ll
ar
, 
p
re
ss
u
re

2
9
-0
1
6
-8
7
0

1
1

1
1

1
0

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
9
0

6
6

6
6

1
1

B
u
sh
in
g
, 
b
ro
n
ze

P
M
3
5
3
5
S
Y

2
2

2
2

1
2

L
o
ck
 t
ab
, 
cl
u
tc
h
 a
ss
y

1
3
-0
0
4
-3
0
5

  
- 
 

1
1

1

C
lu
tc
h
 -
 S
p
ro
c
k
e
t 
a
s
s
y
, 

3
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

*
 O
p
ti
o
n
al
 o
n
 1
2
2
0
 r
o
w
 h
ea
d
er
s.
  
S
ta
n
d
ar
d
, 
ri
g
h
t 
h
an
d
, 
si
n
g
le
 d
ri
v
e 
is
 s
h
o
w
n
 o
n
 p
ag
es
 2
8
 &
 2
9
. 
  
B
y
 i
n
st
al
li
n
g
 t
h
is
 c
lu
tc
h
, 
th
e 
ri
g
h
t 
h
an
d
 g
ea
r-

  
  
b
o
x
es
 h
av
e 
ad
d
it
io
n
al
 p
ro
te
ct
io
n
.



26

06
-0
16
.8
50

C
ha

in
 T

en
sio

ne
r A

ss
em

bl
y

3
8

06
-0

16
-8

50

40



0
1
8

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

C
h
ai
n
 t
en
si
o
n
er
 a
ss
y

0
6
-0
1
6
-8
5
0

3
4

4
4

1
T
en
si
o
n
er
 a
rm

0
2
-0
1
6
-8
7
5

1
1

1
1

2
W
as
h
er
, 
fl
at
 -
 2
4
m
m

M
2
4
F
W

2
2

2
2

3
S
n
ap
 r
in
g

6
2
M
S
Z
2
3
1

2
2

2
2

4
  
 B
ea
ri
n
g
, 
b
al
l 
w
/s
ea
l

  
 6
3
0
5
2
R
S
1

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
  
  
E
U
 p
ar
t 
n
o
.

4
B
ea
ri
n
g
, 
b
al
l 
w
/s
ea
l

6
3
0
5
-2
R
S
R

1
1

1
1

S
K
F

5
R
o
ll
er
, 
te
n
si
o
n
er

6
1
-0
1
6
-8
7
6

1
1

1
1

6
W
as
h
er
, 
fl
at

1
3
-0
1
6
-4
2
9

1
1

1
1

W
as
h
er
, 
2
5
.5
m
m

1
3
-0
1
6
-8
8
8

3
3

3
3

W
as
h
er
, 
2
5
.5
m
m

1
3
-0
1
6
-8
8
9

3
3

3
3

7
W
as
h
er
, 
lo
ck

M
8
L
W

1
1

1
1

8
S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
2
0

1
1

1
1

9
S
p
ri
n
g

5
0
-0
0
4
-3
4
0

1
1

1
1

1
0

N
u
t,
 h
ex

3
3
-0
1
6
-0
6
5

1
1

1
1

1
1

N
u
t,
 l
o
w
 (
ja
m
) 
h
ex
, 
g
ra
d
e 
4

M
1
6
JN

1
1

1
1

C
h
a
in
 T
e
n
s
io
n
e
r 
A
s
s
y
  
  
 -
  
  
 0
6
-0
1
6
-8
5
0

4
1

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it



28

D
ri

ve
 S

ha
ft

 A
ss

em
bl

y
P

T
O

 D
ri

v
e 

S
h

a
ft

 A
ss

em
b

ly

4
0

1
8

1
8

42



0
1
9

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

P
T
O
 d
ri
v
e 
sh
af
t 
as
sy
, 
1
2
2
0

0
1
-0
1
5
-7
7
4

1

P
T
O
 d
ri
v
e 
sh
af
t 
as
sy
, 
1
6
2
0

0
1
-0
0
1
-8
2
4

2
  
A
ft
er
 S
er
. 
N
o
. 
M
1
1
6
5
0

P
T
O
 d
ri
v
e 
sh
af
t 
as
sy
, 
1
8
2
0

0
1
-0
0
1
-8
2
2

2
 B
ef
o
re
  
 "
  
  
  
" 
  
  
  
  
"

P
T
O
 d
ri
v
e 
sh
af
t 
as
sy
, 
1
8
2
0

0
1
-0
0
1
-8
2
3

2
  
A
ft
er
  
  
" 
  
  
 "
  
  
  
  
 "

P
T
O
 d
ri
v
e 
sh
af
t 
as
sy
, 
2
4
2
0

0
1
-0
0
1
-8
2
7

2

1
D
ri
v
e 
sh
af
t,
 1
2
2
0
 

3
0
-0
1
5
-8
0
0

1
 B
ef
o
re
 2
0
1
0
 -
 M
et
ri
c

1
D
ri
v
e 
sh
af
t,
 1
2
2
0
 

3
0
-0
1
5
-8
0
1

1
  
A
ft
er
 2
0
1
0
 -
 E
n
g
li
sh

1
D
ri
v
e 
sh
af
t,
 1
6
2
0
 

3
0
-0
1
8
-8
9
4

2
  
A
ft
er
 S
er
. 
N
o
. 
M
1
1
6
5
0

1
D
ri
v
e 
sh
af
t,
 1
8
2
0

3
0
-0
1
8
-8
9
2

2
 B
ef
o
re
  
 "
  
  
  
" 
  
  
  
  
"

1
D
ri
v
e 
sh
af
t,
 1
8
2
0

3
0
-0
1
8
-8
9
3

2
  
A
ft
er
  
  
" 
  
  
 "
  
  
  
  
 "

1
D
ri
v
e 
sh
af
t,
 2
4
2
0

3
0
-0
1
8
-8
9
6

2

2
S
h
af
t 
g
u
ar
d
, 
1
2
2
0

0
2
-0
1
5
-8
0
1

1
  
A
ft
er
 2
0
1
0
 -
 E
n
g
li
sh

2
S
h
af
t 
g
u
ar
d
, 
1
6
2
0

0
2
-0
1
8
-8
9
8

2
  
A
ft
er
 S
er
. 
N
o
. 
M
1
1
6
5
0

2
S
h
af
t 
g
u
ar
d
, 
1
8
2
0

0
2
-0
1
8
-8
9
9

2
 B
ef
o
re
  
 "
  
  
  
" 
  
  
  
  
"

2
S
h
af
t 
g
u
ar
d
, 
1
8
2
0

0
2
-0
1
8
-9
0
0

2
  
A
ft
er
  
  
" 
  
  
 "
  
  
  
  
 "

2
S
h
af
t 
g
u
ar
d
, 
2
4
2
0

0
2
-0
1
8
-9
0
3

2

3
W
as
h
er
, 
fl
at

1
3
-0
0
5
-8
3
0

1
1

1
1

4
S
p
ro
ck
et
, 
d
o
u
b
le

S
ee
 r
em
ar
k
s 
co
lu
m
n

1
1

1
1

D
ep
en
d
s 
o
n
 c
o
m
b
in
e

5
S
le
ev
e,
 s
p
ac
er

3
1
-0
1
6
-8
5
2

1
1

1
1

6
W
as
h
er
, 
sh
im

1
3
-0
0
5
-9
9
3

2
2

2
2

 O
r 
as
 n
ee
d
ed

7
W
as
h
er
, 
sp
ac
er

1
3
-0
0
5
-9
9
4

2
2

2
2

 O
r 
as
 n
ee
d
ed

8
L
o
ck
in
g
 c
o
ll
ar
  
  
(f
o
r 
Y
 b
ea
ri
n
g
 b
el
o
w
)

Y
T
-2
0
7

2
2

2
2

S
K
F
  
  
co
m
es
 w
/ 
b
ea
ri
n
g

9
Y
 b
ea
ri
n
g
 

Y
T
-2
0
7

2
2

2
2

S
K
F

1
0

H
o
u
si
n
g
, 
b
ea
ri
n
g
 

F
Y
-5
0
7

2
2

2
2

S
K
F

1
1

N
u
t,
 c
o
u
p
le
r 
- 
1
2
x
5
0
m
m

3
3
-0
1
6
-8
7
9

4
4

4
4

1
2

P
la
st
ic
 t
u
b
e 
ex
te
n
si
o
n

6
0
-0
1
6
-8
7
8

1
1

1
1

1
4

C
o
n
e,
 s
af
et
y

6
1
-0
1
6
-4
4
1

1
1

1
1

1
5

W
as
h
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

1
6

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
1

1
1

1
7

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
5
0

4
4

4
4

1
8

W
as
h
er
, 
fl
at

M
1
2
F
W

1
6

1
6

1
6

1
6

1
9

W
as
h
er
, 
lo
ck

M
1
2
L
W

1
6

1
6

1
6

1
6

2
0

N
u
t,
 h
ex

M
1
2
H
N

8
8

8
8

2
1

W
as
h
er
  
  
  
(p
re
v
io
u
sl
y
 u
se
d
 w
o
o
d
) 

M
1
2
F
W

4
4

4
4

2
2

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
3
0

8
8

8
8

P
T
O
 D
ri
v
e
 S
h
a
ft
 A
s
s
y

4
3

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 s
h
af
t 
as
sy



30

 0
1-

01
6.

36
6

JD
-9

60
0 

D
ri

ve
 A

ss
y

0
1
-0

1
6
-3

6
6

J
D

 -
 9

6
0
0
  
D

ri
v
e 

 K
it

4
2 44



0
2
0

 I
te
m
 #
  
  
 D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

1
B
ea
ri
n
g
 s
u
p
p
o
rt
 w
ld
m
t,
 J
D
 o
n
ly

0
2
-0
1
6
-4
5
0

1
1

1

2
S
p
ro
ck
et
 w
ld
m
t,
 J
D
 o
n
ly

0
7
-0
1
6
-4
5
1

1
1

1

3
S
le
ev
e,
 c
o
n
n
ec
to
r 
- 
JD

0
2
-0
1
6
-4
5
2

1
1

1

4
C
o
n
e,
 s
af
et
y

6
1
-0
1
6
-4
4
1

1
1

1

5
C
o
u
n
te
rs
h
af
t

3
0
-0
1
6
-4
5
5

1
1

1

6
S
p
ri
n
g

5
0
-0
1
6
-4
5
6

1
1

1

7
C
h
ai
n
, 
d
o
u
b
le
 r
o
ll
er
 -
 1
4
 l
in
k

1
2
B
2
-1
4

1
1

1

8
H
o
u
si
n
g
, 
b
ea
ri
n
g

F
Y
-5
0
7

2
2

2

9
Y
 b
ea
ri
n
g
 w
it
h
 l
o
ck
in
g
 c
o
ll
ar

Y
T
-2
0
7

2
2

2

1
0

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
3
0

4
4

4

1
1

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
4
0

4
4

4

1
2

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
5
5

4
4

4

1
3

W
as
h
er
  
(p
re
v
io
u
sl
y
 u
se
d
 w
o
o
d
) 

M
1
2
W

2
0

2
0

2
0

1
4

W
as
h
er
, 
fl
at

M
1
2
F
W

8
8

8

1
5

W
as
h
er
, 
lo
ck

M
1
2
L
W

1
2

1
2

1
2

1
6

N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
2
H
N

1
2

1
2

1
2

4
5

J
D
 -
 9
6
0
0
  
D
r
iv
e
  
K
it
  
  
  
  
  
  
  
 0
1
-0
1
6
-3
6
6   
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



32

M
ai

n 
Fr

am
e

R
ow

 U
ni

ts

4
4

9

8

7

46



  
  

0
2
1

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0
  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

R
o
w
 u
n
it
 a
ss
y
, 
1
2
2
0

0
1
-0
1
5
-7
1
4

1

R
o
w
 u
n
it
 a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-7
1
5

1

R
o
w
 u
n
it
 a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-7
1
4

1

R
o
w
 u
n
it
 a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-7
1
6

1

1
C
u
tt
in
g
 b
la
d
e 
as
sy

0
5
-0
1
6
-9
0
6

1
2

1
6

1
8

2
4

-

2
G
at
h
er
in
g
 c
h
ai
n
 g
u
id
e 
&
 t
en

si
o
n
er
 (
L
H
)

0
1
-0
0
1
-2
0
1

6
8

9
1
2

3
G
at
h
er
in
g
 c
h
ai
n
 g
u
id
e 
&
 t
en

si
o
n
er
 (
R
H
)

0
1
-0
0
1
-2
0
2

6
8

9
1
2

4
G
u
id
e 
as
sy

 (
L
H
)

0
1
-0
0
1
-0
8
0

6
8

9
1
2

5
G
u
id
e 
as
sy

 (
R
H
)

0
1
-0
0
1
-0
8
1

6
8

9
1
2

6
B
ra
ce
, 
o
u
te
r

5
2
-0
0
6
-0
3
1

2
2

2
2

7
B
ra
ce
, 
in
n
er

5
2
-0
1
4
-2
2
1

1
0

1
4

1
6

2
2

8
C
u
tt
in
g
 e
d
g
e,
 s
ta
ti
o
n
ar
y
 -
 (
L
H
)

1
3
-0
0
6
-0
2
5

6
8

9
1
2

9
C
u
tt
in
g
 e
d
g
e,
 s
ta
ti
o
n
ar
y
 -
 (
R
H
)

1
3
-0
0
6
-0
2
6

6
8

9
1
2

`

R
o
w
 U
n
it
s
 A
s
s
e
m
b
ly

4
7

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



34

Bl
ad

e A
ss

em
bl

y
G

ro
up

 1
3

05
-0
06
.0
34

R
ot

ar
y 

C
ut

te
r

G
ro

up
 7

05
-0
16
.9
08

05
-0
16
.9
06

R
ig

ht

Le
ft

R
ot

ar
y 

C
ut

tin
g 

M
ec

ha
ni

sm

4
6

0
5
-0

1
6
-9

0
6

0
5
-0

1
6
-9

0
8

0
5
-0

0
6
-0

3
4

(3
)

48



0
2
2

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

R
o

ta
ry

 c
u

tt
in

g
 m

ec
h

an
is

m
0

5
-0

1
6

-9
0

6
1

2
1

6
1

8
2

4

1
B

as
e 

p
la

te
1

4
-0

0
4

-2
9

7
1

1
1

1

2
C

u
tt

in
g

 e
d

g
e,

 s
ta

ti
o

n
ar

y
 -

 l
ef

t
1

3
-0

0
6

-0
2

5
1

1
1

1

2
C

u
tt

in
g

 e
d

g
e,

 s
ta

ti
o

n
ar

y
 -

 r
ig

h
t

1
3

-0
0

6
-0

2
6

1
1

1
1

3
P

la
te

, 
lo

ck
in

g
1

2
-0

0
4

-2
9

9
2

2
2

2

4
S

cr
ew

, 
h

ex
 h

d
 c

ap
, 

g
ra

d
e 

8
.8

M
1

0
x

2
5

4
4

4
4

5
S

h
im

  
 1

 m
m

  
  

  
  

  
  

  
  

  
  

  
  

 (
A

s 
n

ee
d

ed
)

1
3

-0
0

4
-3

0
0

1
1

1
1

O
ld

 P
/N

  
2

-6
0

0
-1

8
1

/A

6
S

h
im

  
 0

.5
m

m
  

  
  

  
  

  
  

  
  

  
  

 (
A

s 
n

ee
d

ed
)

1
3

-0
0

4
-3

0
1

1
1

1
1

O
ld

 P
/N

  
2

-6
0

0
-1

8
1

/B

7
R

o
ta

ry
 c

u
tt

er
0

5
-0

1
6

-9
0

8
1

1
1

1

8
B

u
sh

in
g

, 
u

p
p

er
2

9
-0

0
4

-3
0

2
1

1
1

1
O

ld
 P

/N
  

2
-6

0
0

-1
8

0

9
L

o
ck

 r
in

g
1

3
-0

0
4

-3
0

3
L

1
1

1
1

1
0

S
cr

ew
, 

h
ex

 h
d

 c
ap

, 
g

ra
d

e 
8

.8
M

1
0

x
8

0
1

1
1

1

G
ro

u
p

 7
R

o
ta

ry
 c

u
tt

er
 a

ss
y

0
5

-0
1

6
-9

0
8

1
1

1
1

1
1

H
u

b
, 

b
la

d
e

0
2

-0
0

6
-0

3
5

1
1

1
1

1
2

F
ri

ct
io

n
 d

is
k

, 
d

ri
v

e
6

1
-0

1
6

-9
1

0
2

2
2

2

1
3

B
la

d
e 

as
sy

0
5

-0
0

6
-0

3
4

1
1

1
1

1
4

U
p

p
er

 d
is

k
2

9
-0

1
6

-9
1

1
1

1
1

1

1
5

P
re

ss
u

re
 p

la
te

 
2

9
-0

1
6

-9
1

2
1

1
1

1

1
6

W
as

h
er

, 
b

el
le

v
il

le
 s

p
ri

n
g

5
1

-0
1

6
-4

9
5

3
3

3
3

  
  
  
  
  
  
  

w
as

 (
2

)

1
7

W
as

h
er

, 
lo

ck
in

g
 -

 (
2

) 
in

te
rn

al
 t

ab
s,

 (
7

) 
ex

t
1

3
-0

0
4

-3
0

4
1

1
1

1

1
8

N
u

t,
 r

o
u

n
d

 -
 (

4
) 

sl
o

ts
 -

  
M

4
0

x
1

.5
 x

 1
2

m
m

*
3

3
-0

2
7

-2
4

9
1

1
1

1

G
ro

u
p

 1
3

B
la

d
e 

as
sy

0
5

-0
0

6
-0

3
4

1
1

1
1

1
9

S
p

ro
ck

et
, 

d
ri

v
er

 -
 1

7
 t

o
o

th
0

2
-0

0
6

-0
3

6
1

1
1

1

2
0

B
u

sh
in

g
, 

cu
tt

in
g

 b
la

d
e

3
2

-0
0

4
-3

1
9

2
2

2
2

2
1

B
la

d
e

1
3

-0
0

6
-0

3
7

4
4

4
4

2
2

R
iv

et
  

  
 d

=
6

x
2

2
0

6
x

2
2

1
2

1
2

1
2

1
2

  
 *

 1
2

m
m

 =
 .

4
7

2
 i

n
ch

es

R
o
ta
ry
  
C
u
tt
in
g
  
M
e
c
h
a
n
is
m

4
9  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie

ce
s 

p
er

 i
n

d
iv

id
u

al
 u

n
it

 



   
   

   
   

   
36

Le
ft

Le
ft

R
ig

ht

R
ig

ht

R
ig

ht

G
at

he
ri

ng
 C

ha
in

 a
nd

 T
en

sio
ne

r A
ss

em
bl

y 
 R

H
 / 

L
H

Sh
ee

t 1
 o

f 2
4
8 50

Sh
ee

t 1
 o

f 4



0
2
3

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

G
at

h
er

in
g
 c

h
ai

n
 &

 t
en

si
o
n
er

 a
ss

y
  
L

H
0
1
-0

0
1
-2

0
1

6
8

9
1
2

G
at

h
er

in
g
 c

h
ai

n
 &

 t
en

si
o
n
er

 a
ss

y
  
R

H
0
1
-0

0
1
-2

0
2

6
8

9
1
2

1
C

h
ai

n
 t
en

si
o
n
er

 b
ra

ck
er

 L
H

0
2
-0

2
7
-2

0
1

1
1

1
1

2
C

h
ai

n
 t
en

si
o
n
er

 b
ra

ck
er

 R
H

0
2
-0

2
7
-2

0
2

1
1

1
1

3
S
ta

lk
 e

je
ct

o
r 

L
H

0
2
-0

1
6
-4

8
3

1
1

1
1

4
S
ta

lk
 e

je
ct

o
r 

R
H

0
2
-0

1
6
-4

8
4

1
1

1
1

5
C

h
ai

n
 g

u
id

e
0
2
-0

0
6
-0

2
3

1
1

1
1

6
S
p
ro

ck
et

, 
ri

v
et

ed
 -

 1
7
 t
o
o
th

0
6
-0

0
6
-0

5
6

2
2

2
2

7
S
p
ri

n
g
 r

et
ai

n
er

0
2
-0

2
7
-2

1
2

1
1

1
1

8
W

as
h
er

, 
b
en

t
1
4
-0

2
7
-2

1
0

1
1

1
1

9
S
p
ri

n
g

5
0
-0

0
4
-3

4
0

1
1

1
1

1
0

B
ra

ck
et

0
2
-0

2
7
-2

0
9

1
1

1
1

1
1

S
p
ac

er
3
1
-0

0
6
-0

6
1

2
2

2
2

1
2

S
cr

ew
, 
ti
g
h
te

n
er

0
2
-0

2
7
-2

1
5

1
1

1
1

1
3

N
u
t

3
3
-0

0
6
-0

6
2

2
2

2
2

1
4

O
u
te

r 
b
ra

ck
et

5
2
-0

0
6
-0

3
1

>
>

>
>

2
 p

cs
/h

ea
d
er

1
5

In
n
er

 b
ra

ck
et

5
2
-0

1
4
-2

2
1

1
1

1
1

1
6

S
n
ap

 r
in

g
  
  
  
d
=

2
0
m

m
2
0
M

S
Z

2
3
2

1
1

1
1

S
h
e
e
t 
2
 o
f 
4

G
a
th
e
ri
n
g
 C
h
a
in
 a
n
d
 T
e
n
s
io
n
e
r 
A
s
s
e
m
b
ly
, 
R
H
 /
 L
H   
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie

ce
s 

p
er

 i
n
d
iv

id
u
al

 u
n
it

5
1



38

Le
ft

Le
ft

R
ig

ht

R
ig

ht
R

ig
ht

G
at

he
ri

ng
 C

ha
in

 a
nd

 T
en

sio
ne

r A
ss

em
bl

y 
 R

H
 / 

L
H

Sh
ee

t 2
 o

f 2
5
052

Sh
ee

t 3
 o

f 4



0
2
4

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

1
7

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
8
0

1
1

1
1

1
8

W
as
h
er
, 
lo
ck

M
1
2
L
W

3
3

3
3

1
9

W
as
h
er
, 
fl
at

M
1
2
F
W

1
1

1
1

2
0

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
3
0

2
2

2
2

2
1

W
as
h
er
, 
fl
at

M
1
0
F
W

6
6

6
6

2
2

W
as
h
er
, 
lo
ck

M
1
0
L
W

5
5

5
5

2
3

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
0

2
2

2
2

2
4

N
u
t,
 h
ex
.,
 g
ra
d
e 
8

M
1
0
H
N

3
3

3
3

2
5

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
3
5

1
1

1
1

2
6

G
at
h
er
in
g
 c
h
ai
n

5
4
-0
0
6
-0
8
0

1
1

1
1

2
7

C
o
n
n
ec
to
r 
li
n
k
, 
g
at
h
er
in
g
 c
h
ai
n

C
L
1
2
B
1

1
1

1
1

  
  
  
  
  
  
  
  
  
O
ld
 P
/N
  
w
as
 1
2
A
-1

It
em

 N
o
. 
6

S
p
ro
ck
et
, 
ri
v
et
ed
 -
 1
7
 t
o
o
th

0
6
-0
0
6
-0
5
6

2
8

C
o
v
er

1
4
-0
0
4
-3
4
4

2
2

2
2

2
9

B
ea
ri
n
g
, 
b
al
l

6
2
0
4
-2
R
S
1

1
1

1
1

 S
K
F

3
0

S
p
ro
ck
et
, 
1
7
 t
o
o
th

2
4
-0
0
4
-3
4
3

1
1

1
1

3
1

R
iv
et
, 
d
=
4
x
1
8

4
x
1
8

4
4

4
4

S
h
e
e
t 
4
 o
f 
4

G
a
th
e
ri
n
g
 C
h
a
in
 a
n
d
 T
e
n
s
io
n
e
r 
A
s
s
e
m
b
ly
, 
R
H
 /
 L
H
 (c
o
n
t.
)

R
ep
ea
te
d
 i
te
m
 f
ro
m
 p
re
v
io
u
s 
p
a
g
e 
(p
ag
e 
5
1
)

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
a
l 
u
n
it
 

5
3



40

R
ig

ht

Le
ft

C
ha

in
 G

ui
de

 A
ss

em
bl

y 
 R

H
 / 

L
H

5
2 54



0
2
5

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

C
h
ai
n
 g
u
id
e 
as
sy
 (
L
H
)

0
1
-0
0
1
-0
8
0

6
8

9
1
2

C
h
ai
n
 g
u
id
e 
as
sy
 (
R
H
)

0
1
-0
0
1
-0
8
1

6
8

9
1
2

1
G
u
id
e 
(L
H
)

0
2
-0
0
6
-0
8
4

1
1

1
1

2
G
u
id
e 
(R

H
)

0
2
-0
0
6
-0
8
5

1
1

1
1

3
A
d
ju
st
ab
le
 p
la
te
 (
L
H
)

1
2
-0
0
6
-0
8
2

1
1

1
1

4
A
d
ju
st
ab
le
 p
la
te
 (
R
H
)

1
2
-0
0
6
-0
8
3

1
1

1
1

5
B
o
lt
, 
ca
rr
ia
g
e 
- 
g
ra
d
e 
4
.6

M
8
x
2
5
C
B

3
3

3
3

6
W
as
h
er
, 
fl
at

M
8
F
W

3
3

3
3

7
W
as
h
er
, 
lo
ck

M
8
L
W

3
3

3
3

8
N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
8
H
N

3
3

3
3

9
W
as
h
er
, 
fl
at

M
1
2
F
W

1
1

1
1

1
0

W
as
h
er
, 
lo
ck

M
1
2
L
W

1
1

1
1

1
1

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
2
x
3
0

1
1

1
1

1
2

W
as
h
er
, 
sp
ec
ia
l 
- 
2
 f
la
ts

1
3
-0
0
9
-2
5
1

2
2

2
2

1
3

W
as
h
er
, 
lo
ck
 

M
1
0
L
W

2
2

2
2

1
4

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
0

2
2

2
2

C
h
a
in
 G
u
id
e
 A
s
s
e
m
b
ly
  
 R
H
 /
 L
H

5
5

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it
 

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



56

M
ai

n
 F

ra
m

e

C
at

ch
 P

an
  (

L
H

)

C
at

ch
 P

an
  (

C
en

te
r)

C
at

ch
 P

an
  (

R
H

)

V
ib

ra
ti

n
g 

C
at

ch
 P

an
 A

ss
em

b
lie

s



0
2
6

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
, 
1
2
2
0

0
1
-0
1
5
-7
2
0

1

V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-3
0
3

1

V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-3
0
4

1

V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-3
0
7

1

1
V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
 (
L
H
)

0
1
-0
0
1
-8
0
7

5
7

8
1
1

2
V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
 (
R
H
)

0
1
-0
0
1
-8
0
8

5
7

8
1
1

3
V
ib
ra
ti
n
g
 c
at
ch

 p
an

 a
ss
y
 (
C
en

te
r)

0
1
-0
0
1
-8
0
9

1
1

1
1

V
ib
ra
ti
n
g
 C
a
tc
h
 P
a
n
 A
s
s
e
m
b
li
e
s

5
7

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



44

C
at

ch
 P

an
 W

el
de

d 
 (R

H
)

C
at

ch
 P

an
 W

el
de

d 
 (I

nt
er

m
ed

ia
te

)

C
at

ch
 P

an
 W

el
de

d 
 (L

H
)

V
ib

ra
tin

g 
C

at
ch

 P
an

s

5
6

1
8

1
8

1
9

1
9

58

C
at

ch
 P

an
 A

ss
em

bl
y 

(R
H

)

C
at

ch
 P

an
 A

ss
em

bl
y 

(C
en

te
r)

C
at

ch
 P

an
 A

ss
em

bl
y 

(L
H

)

V
ib

ra
tin

g 
C

at
ch

 P
an

 A
ss

em
bl

ie
s

23

22

24

21

21

2315
19

20



0
2
7

  
It
em
 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0
  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

2
2

V
ib
ra
ti
n
g
 c
at
ch
 p
an
 a
ss
y
, 
L
H

0
1
-0
0
1
-8
0
7

5
7

8
1
1

1
8

  
  
 F
il
le
r 
p
la
te
, 
L
H

1
4
-0
0
6
-2
3
2

6
8

9
1
2

2
3

V
ib
ra
ti
n
g
 c
at
ch
 p
an
 a
ss
y
, 
R
H

0
1
-0
0
1
-8
0
8

5
7

8
1
1

1
9

  
  
 F
il
le
r 
p
la
te
, 
R
H

1
4
-0
0
6
-2
3
1

6
8

9
1
2

2
4

V
ib
ra
ti
n
g
 c
at
ch
 p
an
 a
ss
y
, 
ce
n
te
r

0
1
-0
0
1
-8
0
9

1
1

1
1

T
o
ta
l 
p
an
s

1
1

1
5

1
7

2
3

  
  
 T
o
ta
l 
fi
ll
er
 p
la
te
s

1
2

1
6

1
8

2
4

1
C
at
ch
 p
an
 w
ld
m
t,
 L
H
 -
 2
0
"

0
1
-0
1
5
-8
0
7

1
1

1
1

  
 E
it
h
er

2
C
at
ch
 p
an
 w
ld
m
t,
 R
H
 -
 2
0
"

0
1
-0
1
5
-8
0
8

1
1

1
1

  
  
  
"

3
C
at
ch
 p
an
 w
ld
m
t,
 c
en
te
r 
-2
0
"

0
1
-0
1
5
-8
0
9

1
1

1
1

  
  
  
"

4
B
ra
ck
et
, 
v
ib
. 
ta
b
le
, 
2
0
"

1
4
-0
1
5
-8
1
0

1
1

1
1

5
R
u
b
b
er
, 
fo
o
t 
- 
cu
sh
io
n

6
1
-0
1
6
-8
0
7

2
2

2
2

6
S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
0

2
2

2
2

7
W
as
h
er
, 
fl
at

M
1
0
F
W

4
4

4
4

8
W
as
h
er
, 
lo
ck

M
1
0
L
W

2
2

2
2

9
N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
0
H
N

2
2

2
2

1
0

S
p
ri
n
g
  
  
 (
 s
ee
 r
em
ar
k
s 
co
l.
)

5
0
-0
0
9
-2
6
5

2
2

2
2

 (
2
) 
p
er
 o
n
 c
en
te
r 
p
an
 o
n
ly

2
1

S
p
ri
n
g
, 
sh
o
rt
er
 (
  
 "
  
  
 "
  
  
 "
  
)

5
0
-0
0
9
-2
6
6

1
1

1
1

 (
1
) 
p
er
 o
n
 a
ll
 L
H
 &
 R
H
 p
an
s

1
1

P
in
, 
v
ib
ra
ti
n
g
 t
ab
le

3
1
-0
0
4
-5
7
4

2
2

2
2

1
2

S
cr
ew
, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
3
5

2
2

2
2

1
3

R
u
b
b
er
 f
la
p
, 
2
0
" 
  
 (
L
H
 &
 R
H
)

6
5
-0
1
5
-8
1
6

1
1

1
1

1
4

F
la
p
 m
o
u
n
t,
 2
0
" 
  
  
(L
H
 &
 R
H
)

1
3
-0
1
5
-8
1
7

1
1

1
1

1
5

R
iv
et
, 
p
o
p
, 
d
=
4
, 
8
x
1
6
  
  
(3
/1
6
)

0
4
-8
x
1
6
N

8
8

8
8

 i
n
cr
ea
se
 t
o
 (
1
4
),
 c
en
te
r 
p
an
 o
n
ly

1
6

R
u
b
b
er
 f
la
p
, 
ce
n
te
r 
- 
2
0
"

6
5
-0
1
5
-8
2
4

1
1

1
1

1
7

F
la
p
 m
o
u
n
t,
 c
en
te
r 
- 
2
0
"

1
3
-0
1
5
-8
2
5

1
1

1
1

2
0

W
as
h
er
, 
fl
at
 -
 #
1
0
 S
A
E

9
0
0
-1
1
1
7
7

3
3

3
3

 (
6
) 
fo
r 
ce
n
te
r 
p
an
 o
n
ly

V
ib
ra
ti
n
g
  
C
a
tc
h
 P
a
n
 A
s
s
y
's
, 
2
0
"

5
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it
 



46

L
ow

er
 S

hi
el

ds

5
8

1
5

60



0
2
8

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

L
o
w
er
 s
h
ie
ld
 a
ss
y
, 
1
2
2
0

0
1
-0
0
1
-5
2
4

1

L
o
w
er
 s
h
ie
ld
 a
ss
y
, 
1
6
2
0

0
1
-0
0
1
-5
2
3

1

L
o
w
er
 s
h
ie
ld
 a
ss
y
, 
1
8
2
0

0
1
-0
0
1
-5
2
7

1

L
o
w
er
 s
h
ie
ld
 a
ss
y
, 
2
4
2
0

0
1
-0
0
1
-5
2
9

1

1
S
h
ie
ld
, 
o
u
te
r 
- 
L
H
 -
 2
0
"

1
4
-0
1
5
-8
3
7

1
1

1
1

2
S
h
ie
ld
, 
o
u
te
r 
- 
R
H
 -
 2
0
"

1
4
-0
1
5
-8
3
8

1
1

1
1

3
S
h
ie
ld
, 
L
H
 -
 2
0
"

1
4
-0
1
5
-8
3
9

4
6

7
1
2

4
S
h
ie
ld
, 
R
H
 -
 2
0
"

1
4
-0
1
5
-8
4
0

4
6

7
1
2

5
S
h
ie
ld
, 
ce
n
te
r 
- 
L
H
 -
 2
0
"

1
4
-0
1
5
-8
4
1

1
1

1
1

6
S
h
ie
ld
, 
co

n
n
ec
te
r 
sh

af
t 
- 
L
H

1
4
-0
0
9
-3
8
5

6
8

9
1
2

7
S
h
ie
ld
, 
co

n
n
ec
te
r 
sh

af
t 
- 
R
H

1
4
-0
0
9
-3
8
6

5
7

8
1
1

8
W

ea
r 
p
la
te
, 
L
H

1
4
-0
1
6
-9
3
9

6
8

9
1
0

9
W

ea
r 
p
la
te
, 
R
H

1
4
-0
1
6
-9
4
0

6
8

9
1
0

1
0

S
cr
ew

, 
h
ex

.c
ap

M
8
x
2
0

1
1

1
5

1
7

2
3

1
1

W
as
h
er
, 
fl
at

M
8
F
W

 
1
1

1
5

1
7

2
3

1
2

W
as
h
er
, 
lo
ck

M
8
L
W

1
1

1
5

1
7

2
3

1
3

W
as
h
er
 f
la
t

M
1
2
F
W

2
4

3
2

3
6

4
8

1
4

N
u
t,
 h
ex

M
1
2
H
N

2
4

3
2

3
6

4
8

1
5

S
h
ie
ld
, 
ce
n
te
r 
- 
R
H
 -
 2
0
"

1
4
-0
1
5
-8
4
2

1
1

1
1

L
o
w
e
r
 S
h
ie
ld
s

6
1  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



48

Sh
ie

ld
s, 

 L
ef

t H
an

d

6
0 62

Sh
ee

t 1
 o

f 4



0
2
9

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

E
n
d
 s
h
ie

ld
 a

ss
y
, 
2
0
" 
- 
L
H

 &
 R

H
0
1
-0

0
1
-5

3
1

  
- 
 

  
- 
 

  
- 
 

  
-

  
 P

/N
, 
b
o
th

 L
H

 &
 R

H

1
P
la

te
 g

u
id

e 
(L

H
)

0
2
-0

1
6
-8

1
3

1
1

1
1

3
In

se
rt
 (
L
H

)
0
2
-0

1
6
-5

0
1

1
1

1
1

5
P
la

te
 g

u
id

e 
(L

H
)

0
2
-0

1
6
-5

0
3

1
1

1
1

7
D

o
o
r 
h
in

g
e 

(L
H

)
0
2
-0

1
6
-5

2
5

1
1

1
1

9
D

o
o
r 
(L

H
)

0
2
-0

1
6
-5

3
1

1
1

1
1

1
1

S
li
d
e 

p
la

te
 (
L
H

)
0
2
-0

1
6
-5

0
9

1
1

1
1

1
3

O
u
te

r 
p
la

te
 (
L
H

)
0
2
-0

1
6
-5

6
7

1
1

1
1

1
5

P
la

te
, 
si

d
e,

 u
p
p
er

 (
L
H

)
0
2
-0

1
6
-5

4
1

1
1

1
1

1
7

R
o
d
, 
re

in
fo

rc
em

en
t 
(L

H
)

0
2
-0

1
6
-5

3
0

1
1

1
1

1
9

P
la

te
 l
o
w

er
 (
L
H

)
1
4
-0

1
6
-5

1
9

1
1

1
1

2
1

H
in

g
e,

 p
iv

o
t 
- 
d
o
o
r

1
2
-0

1
6
-5

1
8

2
2

2
2

2
2

P
la

te
 b

ra
ck

et
1
2
-0

0
5
-5

9
4

2
2

2
2

2
3

B
ra

ck
et

1
3
-0

1
6
-5

7
0

1
1

1
1

2
4

R
u
b
b
er

 s
tr
ap

 a
ss

y
  
1
0
0
-3

-4
4
1
7
 *

2
2

2
2

2
5

W
as

h
er

, 
fl
at

M
6
F
W

1
6

1
6

1
6

1
6

2
6

W
as

h
er

, 
lo

ck
M

6
L
W

8
8

8
8

2
7

N
u
t,
 h

ex
, 
g
ra

d
e 

8
M

6
H

N
8

8
8

8

2
8

S
cr

ew
, 
h
ex

 h
d
 c

ap
, 
g
ra

d
e 

8
.8

M
6
x
2
0

8
8

8
8

2
9

W
as

h
er

  
 (
p
re

v
io

u
sl

y
 u

se
d
 w

o
o
d
)

M
8
F
W

2
2

2
2

3
0

W
as

h
er

, 
fl
at

M
8
F
W

1
5

1
5

1
5

1
5

*
 S
h
ey
en
n
e 
P
a
rt
 N
o
.

S
h
e
e
t 
2
 o
f 
4

S
h
ie
ld
s
, 
 L
e
ft
 H
a
n
d

6
3

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

C
o
m

m
o
n
 t
o
 L

H
 &

 R
H



48

Sh
ie

ld
s, 

 L
ef

t H
an

d

6
0

6
2 64

Sh
ee

t 3
 o

f 4



0
3
0

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
#
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

3
1

W
as
h
er
, 
lo
ck

M
8
L
W

1
3

1
3

1
3

1
3

3
2

N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
8
H
N

1
1

1
1

1
1

1
1

3
3

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
2
0

9
9

9
9

3
4

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
2
5

2
2

2
2

3
5

W
as
h
er
  
 (
p
re
v
io
u
sl
y
 u
se
d
 w
o
o
d
) 

M
1
0
F
W

1
1

1
1

3
6

W
as
h
er
, 
fl
at

M
1
0
F
W

2
2

2
2

2
2

2
2

3
7

W
as
h
er
, 
lo
ck

M
1
0
L
W

1
7

1
7

1
7

1
7

3
8

N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
0
H
N

1
2

1
2

1
2

1
2

3
9

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
0

2
2

2
2

4
0

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
5

8
8

8
8

4
1

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
3

1
3

1
3

1
3

4
2

C
o
tt
er
 p
in
, 
1
/1
6
 x
 3
/4

9
0
0
-2
2
9
7
4
  
*

2
2

2
2

4
3

C
o
tt
er
 p
in
  
  
 (
H
d
w
r 
w
it
h
 s
tr
ap
)

  
  
  
  
  
  
  
S
h
e
e
t 
4
 o
f 
4

S
h
ie
ld
s
, 
 L
e
ft
 H
a
n
d
  
(c
o
n
t.
)

 *
  
S
h
ey
en
n
e 
p
ar
t 
n
u
m
b
er

6
5

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



52

Sh
ie

ld
s, 

 R
ig

ht
 H

an
d

6
466

Sh
ee

t 1
 o

f 4



0
3
1

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

E
n
d
 s
h
ie

ld
 a

ss
y
, 
2
0
" 
- 
L
H

 &
 R

H
0
1
-0

0
1
-5

3
1

  
- 
 

  
- 
 

  
- 
 

  
- 
 

  
  
P
/N

, 
b
o
th

 L
H

 &
 R

H

2
P
la

te
 g

u
id

e 
(R

H
)

0
2
-0

1
6
-8

1
4

1
1

1
1

4
In

se
rt
 (
R

H
)

0
2
-0

1
6
-5

0
2

1
1

1
1

6
P
la

te
 g

u
id

e 
(R

H
)

0
2
-0

1
6
-5

0
4

1
1

1
1

8
D

o
o
r 
h
in

g
e 

(R
H

)
0
2
-0

1
6
-5

2
6

1
1

1
1

1
0

D
o
o
r 
(R

H
)

0
2
-0

1
6
-5

3
2

1
1

1
1

1
2

S
li
d
e 

p
la

te
 (
R

H
)

0
2
-0

1
6
-5

1
0

1
1

1
1

1
4

O
u
te

r 
p
la

te
 (
R

H
)

0
2
-0

1
6
-5

6
8

1
1

1
1

1
6

P
la

te
, 
si

d
e,

 u
p
p
er

 (
R

H
)

0
2
-0

1
6
-5

4
2

1
1

1
1

1
8

R
o
d
, 
re

in
fo

rc
em

en
t 
(R

H
)

0
2
-0

1
6
-5

7
0

1
1

1
1

2
0

P
la

te
 l
o
w

er
 (
R

H
)

1
4
-0

1
6
-5

2
0

1
1

1
1

2
1

H
in

g
e,

 p
iv

o
t 
- 
d
o
o
r

1
2
-0

1
6
-5

1
8

2
2

2
2

2
2

P
la

te
 b

ra
ck

et
1
2
-0

0
5
-5

9
4

2
2

2
2

2
3

B
ra

ck
et

1
3
-0

1
6
-5

7
0

1
1

1
1

2
4

R
u
b
b
er

 s
tr
ap

 a
ss

y
  
1
0
0
-3

-4
4
1
7
 *

2
2

2
2

2
5

W
as

h
er

, 
fl
at

M
6
F
W

1
6

1
6

1
6

1
6

2
6

W
as

h
er

, 
lo

ck
M

6
L
W

8
8

8
8

2
7

N
u
t,
 h

ex
, 
g
ra

d
e 

8
M

6
H

N
8

8
8

8

2
8

S
cr

ew
, 
h
ex

 h
d
 c

ap
, 
g
ra

d
e 

8
.8

M
6
x
2
0

8
8

8
8

2
9

W
as

h
er

  
 (
p
re

v
io

u
sl

y
 u

se
d
 w

o
o
d
) 

M
8
F
W

2
2

2
2

3
0

W
as

h
er

, 
fl
at

M
8
F
W

 
1
5

1
5

1
5

1
5

3
1

W
as

h
er

, 
lo

ck
M

8
L
W

1
3

1
3

1
3

1
3

*
 S
h
ey
en
n
e 
P
a
rt
 N
o
.

S
h
e
e
t 
2
 o
f 
4

S
h
ie
ld
s
, 
 R
ig
h
t 
H
a
n
d

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

C
o
m

m
o
n
 t
o
 L

H
 &

 R
H

6
7



52

Sh
ie

ld
s, 

 R
ig

ht
 H

an
d

6
46
6 68

Sh
ee

t 3
 o

f 4



0
3
2

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
#
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

3
2

N
u
t,
 h
ex
, 
g
ra
d
e 
8
 

M
8
H
N

1
1

1
1

1
1

1
1

3
3

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
2
0

9
9

9
9

3
4

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
8
x
2
5

2
2

2
2

3
5

W
as
h
er
 (
p
re
v
io
u
sl
y
 u
se
d
 w
o
o
d
)

M
1
0
F
W

1
1

1
1

3
6

W
as
h
er
, 
fl
at

M
1
0
F
W

2
2

2
2

2
2

2
2

3
7

W
as
h
er
, 
lo
ck

M
1
0
L
W

1
7

1
7

1
7

1
7

3
8

N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
1
0
H
N

1
2

1
2

1
2

1
2

3
9

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
0

2
2

2
2

4
0

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
2
5

8
8

8
8

4
1

S
cr
ew

, 
h
ex
 h
d
 c
ap
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
3

1
3

1
3

1
3

4
2

C
o
tt
er
 p
in
, 
1
/1
6
 X
 3
/4

9
0
0
-2
2
9
7
4
  
*

2
2

2
2

4
3

C
o
tt
er
 p
in
  
  
  
(h
d
w
r 
w
it
h
 s
tr
ap
)

S
h
e
e
t 
4
 o
f 
4

S
h
ie
ld
, 
 R
ig
h
t 
H
a
n
d
  
(c
o
n
t.
)

 *
  
S
h
ey
en
n
e 
p
ar
t 
n
u
m
b
er

6
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



56

R
ea

r 
Sc

re
en

 A
ss

em
bl

y

6
8

1
3

1
2

1
1

70



0
3
3

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
#
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

R
ea

r 
sc

re
en

 a
ss

y
 -

 1
2
2
0

1
0
-0

1
5
-8

3
5

1

R
ea

r 
sc

re
en

 a
ss

y
 -

 1
6
2
0

0
1
-0

0
1
-5

1
9

1

R
ea

r 
sc

re
en

 a
ss

y
 -

 1
8
2
0

0
1
-0

0
1
-5

0
5

1

R
ea

r 
sc

re
en

 a
ss

y
 -

 2
4
2
0

0
1
-0

0
1
-5

0
8

1

1
S
cr

ee
n
 b

ar
 m

o
u
n
t 
as

sy
0
2
-0

0
6
-1

3
3

2
4

4
6

2
O

u
te

r 
fr

am
e,

 w
ld

m
t 
- 

1
2
2
0

0
2
-0

1
5
-8

4
4

2

2
O

u
te

r 
fr

am
e,

 w
ld

m
t 
- 

1
6
2
0

0
2
-0

1
8
-8

4
3

2

2
O

u
te

r 
fr

am
e,

 w
/a

, 
1
6
, 
1
8
, 
2
4
2
0

0
2
-0

1
8
-8

4
4

2
4

4

2
O

u
te

r 
fr

am
e,

 w
ld

m
t 
- 

2
4
2
0

0
2
-0

1
8
-8

4
5

2
O

u
te

r 
en

d
s,

 2
4
2
0
 o

n
ly

3
C

en
te

r 
fr

am
e,

 w
ld

m
t

0
2
-0

0
6
-4

3
1

1
1

1
1

4
W

as
h
er

, 
fl

at
M

1
2
F
W

8
1
4

1
6

2
4

5
W

as
h
er

, 
lo

ck
M

1
2
L

W
8

1
4

1
6

2
4

6
S
cr

ew
, 
h
ex

 h
d
 c

ap
, 
g
ra

d
e 

8
.8

M
1
2
x
3
0

8
1
4

1
6

2
4

7
W

as
h
er

, 
fl

at
M

1
0
F
W

1
8

2
6

3
0

4
2

8
W

as
h
er

, 
lo

ck
M

1
0
L

W
1
2

1
6

1
8

2
4

9
S
cr

ew
, 
h
ex

 h
d
 c

ap
, 
g
ra

d
e 

8
.8

M
1
0
x
3
0

1
2

1
6

1
8

2
4

1
0

N
u
t,
 h

ex
, 
g
ra

d
e 

8
M

1
0
H

N
6

1
0

1
2

1
8

1
1

R
iv

et
, 
p
o
p
 -

 3
/1

6
0
4
-8

x
1
6
N

2
5

3
1

3
5

5
0

1
2

#
 1

0
x
.7

5
 F

en
d
er

 w
as

h
er

9
0
0
-1

1
1
9
7
  
*

2
5

3
1

3
5

5
0

1
3

R
u
b
b
er

 f
la

p
, 
1
2
2
0
 s

cr
ee

n
6
5
-0

1
6
-5

0
8

1

1
3

R
u
b
b
er

 f
la

p
, 
sc

re
en

, 
1
6
2
0
, 
1
8
2
0

6
5
-0

1
6
-5

1
1

1
1

1
3

R
u
b
b
er

 f
la

p
, 
2
4
2
0
 s

cr
ee

n
6
5
-0

1
6
-5

1
8

1

  
*
  
S
h
ey

en
n
e 

p
ar

t 
n
u
m

b
er

7
1

R
e
a
r 
S
c
re
e
n
 A
s
s
e
m
b
ly

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er



5
8

S
n
o
u
t,
 R
ig
h
t 
H
a
n
d

S
n
o
u
t,
 I
n
te
r
m
ed
ia
te

S
n
o
u
t,
 L
ef
t 
H
a
n
d

S
n
o
u
ts

1
1

1
1

1
1

3

3
a

S
n

o
u

t,
 C

en
te

r

(6
) 

C
en

te
r 

an
d
 t

o
 t

h
e 

le
ft

(5
) 

T
o
 t

h
e 

ri
g
h
t

7
0 72



0
3
4

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

S
n
o
u
t 
S
et
, 
1
2
2
0

0
1
-0
0
1
-7
4
7

1

S
n
o
u
t 
S
et
, 
1
6
2
0

0
1
-0
0
1
-7
5
1

1

S
n
o
u
t 
S
et
, 
1
8
2
0

0
1
-0
0
1
-7
5
0

1

S
n
o
u
t 
S
et
, 
2
4
2
0

0
1
-0
0
1
-7
5
2

1

1
S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 L
H
 -
 2
0
"

0
1
-0
0
1
-7
7
4

1
1

1
1

U
S
A

2
S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 R
H
 -
 2
0
"

0
1
-0
0
1
-7
7
8

1
1

1
1

U
S
A

3
S
n
o
u
t 
a
ss
y
, 
in
te
rm

d
 -
 2
0
"
 (
ce
n
te
r&

L
H
)

0
1
-0
0
1
-8
5
7

6
8

9
1
2

U
S
A

3
a

S
n
o
u
t 
a
ss
y
, 
in
te
rm

d
 -
 2
0
"
 (
R
H
)

0
1
-0
0
1
-8
5
8

5
8

8
1
1

U
S
A

1
S
n
o
u
t,
 w
el
d
ed
 (
L
H
) 
- 
2
0
"

E
U
  
 *

2
S
n
o
u
t,
 w
el
d
ed
 (
R
H
) 
- 
2
0
"

E
U
  
 *

3
S
n
o
u
t,
 w
el
d
ed
 (
ce
n
te
r)
 -
 2
0
"

E
U
  
 *

4
S
cr
ew

, 
h
ex
 c
a
p

M
1
2
x
9
0

2
6

3
4

3
8

5
0

5
W
a
sh
er
, 
lo
ck

M
1
2
L
W

2
6

3
4

3
8

5
0

6
N
u
t,
 h
ex

M
1
2
H
N

2
6

3
4

3
8

5
0

7
S
cr
ew

, 
h
ex
.c
a
p

M
1
0
x
2
5

1
1

1
5

1
7

2
3

8
W
a
sh
er
, 
fl
a
t

M
1
0
F
W

2
2

3
0

3
4

4
6

9
W
a
sh
er
, 
lo
ck

M
1
0
L
W

1
1

1
5

1
7

2
3

1
0

N
u
t,
 h
ex

M
1
0
H
N

1
1

1
5

1
7

2
3

1
1

W
a
sh
er
, 
fl
a
t

M
1
2
F
W

5
2

6
8

7
6

1
0
0

S
n
o
u
t 
S
e
t,
  
2
0
"

7
3

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m

o
d
el
 n
u
m
b
er

  
  
*
  
T
h
es
e 
E
u
ro
p
ea
n
 s
er
v
ic
e 
p
ar
ts
 a
re
 s
ti
ll
 a
v
ai
la
b
le
, 
th
o
u
g
h
 l
im
it
ed



60

Sn
ou

t A
ss

em
bl

y,
 W

el
de

d 
(L

H
) U

SA
S

n
o
u

t 
A

ss
y
, 
 E

n
d

 R
o
w

 -
 L

H
 -

 2
0
 "

7
2

1
11
1

1
1

8

8

74



0
3
5

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 L
H
 -
 2
0
"

0
1
-0
0
1
-7
7
4

1
1

1
1

U
S
A

S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 L
H
 -
 2
0
"

  
  
  
  
 -
  
 

E
U
 *

1
D
iv
id
er
 w
ld
m
t,
 e
n
d
 r
o
w
 -
 L
H

1
0
-0
1
6
-7
7
1

1
1

1
1

U
S
A

D
iv
id
er
 w
ld
m
t,
 e
n
d
 r
o
w
 -
 L
H

  
  
  
  
 -

E
U

2
S
k
id
 s
h
o
e,
 L
H
 -
 l
o
w
 p
ro
fi
le

1
4
-0
1
6
-7
8
8
S

1
1

1
1

3
B
ra
ck
et
, 
en
d
 d
iv
id
er
 m
o
u
n
t

1
4
-0
1
6
-5
7
9

1
1

1
1

4
B
u
sh
in
g
, 
d
iv
id
er
 m
o
u
n
t

3
1
-0
1
6
-7
7
5

2
2

2
2

5
B
ra
ck
et
, 
m
tg
 -
 t
ip
-u
p
 -
 e
n
d
 r
o
w

0
2
-0
1
5
-8
6
0

1
1

1
1

6
W
a
sh
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

7
S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
1

1
1

8
W
a
sh
er
, 
fl
a
t

M
8
F
W

9
9

9
9

9
W
a
sh
er
, 
lo
ck

M
8
L
W

5
5

5
5

1
0

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
2
0

1
1

1
1

1
1

N
u
t,
 h
ex

M
8
H
N

8
8

8
8

1
2

  
  
 (
n
u
m
b
er
 n
o
t 
u
se
d
)

1
3

B
o
lt
, 
p
a
n
 h
ea
d
 -
 s
lo
tt
ed

M
8
x
2
0
S
L

4
4

4
4

1
4

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
3
0

2
2

2
2

1
5

N
u
t,
 h
ex
 -
 l
o
w
 p
ro
fi
le
  
  
  
 (
ja
m
 n
u
t)
 

M
1
2
L
H
N

2
2

2
2

1
6

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
1
0
0

2
2

2
2

S
n
o
u
t 
a
s
s
y
, 
e
n
d
 r
o
w
 -
 L
H
 -
 2
0
"
 

7
5

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

  
  
*
  
T
h
es
e 
E
u
ro
p
ea
n
 s
er
v
ic
e 
p
ar
ts
 a
re
 s
ti
ll
 a
v
ai
la
b
le
, 
th
o
u
g
h
 l
im
il
te
d



64

Sn
ou

t A
ss

y,
 W

el
de

d 
 (R

H
)

1
1

1
1

8

1
1

1
1

S
n

o
u

t 
A

ss
y
, 
 E

n
d

 R
o
w

 -
 R

H
 -

 2
0
"

7
4 76



0
3
6

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

 #
1
6
2
0

  
 #
1
8
2
0

  
 #
1
8
2
0

  
R
em
a
rk
s

S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 R
H
 -
 2
0
"

0
1
-0
0
1
-7
7
8

1
1

1
1

U
S
A

S
n
o
u
t 
a
ss
y
, 
en
d
 r
o
w
 -
 R
H
 -
 2
0
"

E
U
 *

1
D
iv
id
er
 w
ld
m
t,
 e
n
d
 r
o
w
 -
 R
H

1
0
-0
1
6
-7
7
2

1
1

1
1

U
S
A

D
iv
id
er
 w
ld
m
t,
 e
n
d
 r
o
w
 -
 R
H

E
U

2
S
k
id
 s
h
o
e,
 R
H
 -
 l
o
w
 p
ro
fi
le

1
4
-0
1
6
-7
8
9
S

1
1

1
1

3
B
ra
ck
et
, 
en
d
 d
iv
id
er
 m
o
u
n
t

1
4
-0
1
6
-5
7
9

1
1

1
1

4
B
u
sh
in
g
, 
d
iv
id
er
 m
o
u
n
t

3
1
-0
1
6
-7
7
5

2
2

2
2

5
B
ra
ck
et
, 
m
tg
 -
 t
ip
-u
p
 -
 e
n
d
 r
o
w

0
2
-0
1
5
-8
6
0

1
1

1
1

6
W
a
sh
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

7
S
cr
ew
, 
h
ex
 h
d
 c
a
p
 -
 g
ra
d
e 
8
.8

M
1
0
x
3
0

1
1

1
1

8
W
a
sh
er
, 
fl
a
t

M
8
F
W

9
9

9
9

9
W
a
sh
er
, 
lo
ck

M
8
L
W

5
5

5
5

1
0

S
cr
ew
, 
h
ex
 h
d
 c
a
p
 -
 g
ra
d
e 
8
.8

M
8
x
2
0

1
1

1
1

1
1

N
u
t,
 h
ex

M
8
H
N

8
8

8
8

1
2

  
  
 (
n
u
m
b
er
 n
o
t 
u
se
d
)

1
3

B
o
lt
, 
p
a
n
 h
ea
d
 -
 s
lo
tt
ed

M
8
x
2
0
S
L

4
4

4
4

1
4

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
3
0

2
2

2
2

1
5

N
u
t,
 h
ex
 -
 l
o
w
 p
ro
fi
le
  
  
  
  
 (
ja
m
 n
u
t)
 

M
1
2
L
H
N

2
2

2
2

1
6

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
1
0
0

2
2

2
2

S
n
o
u
t 
a
s
s
y
, 
e
n
d
 r
o
w
 -
 R
H
 -
 2
0
"
 

7
7

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

  
  
*
  
T
h
es
e 
E
u
ro
p
ea
n
 s
er
v
ic
e 
p
ar
ts
 a
re
 s
ti
ll
 a
v
ai
la
b
le
, 
th
o
u
g
h
 l
im
it
ed



68

Sn
ou

t A
ss

y,
 W

el
de

d 
(I

nt
er

m
ed

ia
te

) -
U

SA
-

S
n

o
u

t 
A

ss
y
, 
 C

en
te

r 
- 

2
0
"

O
n

e 
u

n
it

 m
o
u

n
ts

 i
n

 t
h

e 
ce

n
te

r 
a
n

d
 t

o
 t

h
e 

le
ft

,

  
  
  
  
  
 O

th
er

 u
n

it
 m

o
u

n
ts

 t
o
 t

h
e 

ri
g
h

t

7
6

1
1

1
1

5
a

8

78



0
3
7

  
It
em
 #

  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

  
#
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em
a
rk
s

S
n
o
u
t 
a
ss
y
, 
C
en
te
r 
&
 t
o
 L
ef
t 
- 
2
0
"

0
1
-0
0
1
-8
5
7

6
8

9
1
2

C
en
te
r 
&
 r
o
w
s 
o
n
 l
ef
t 
h
a
lf

S
n
o
u
t 
a
ss
y
, 
to
 R
ig
h
t 
o
f 
ce
n
te
r 
- 
2
0
"

0
1
-0
0
1
-8
5
8

5
7

8
1
1

R
o
w
s 
o
n
 r
ig
h
t 
h
a
lf

1
D
iv
id
er
 (
co
n
e 
o
n
ly
) 
- 
2
0
"

1
0
-0
1
5
-8
6
0

1
1

1
1

C
o
m
m
o
n
 a
ll
 a
cr
o
ss
 h
ea
d
er

2
S
k
id
 s
h
o
e,
 l
o
w
 p
ro
fi
le

1
4
-0
1
5
-8
6
9

1
1

1
1

  
  
  
  
"
  
  
  
  
"
  
  
  
"
  
  
  
  
  
"
  

3
B
ra
ck
et
, 
en
d
 d
iv
id
er
 m
o
u
n
t

1
4
-0
1
5
-8
7
0

1
1

1
1

  
  
  
  
"
  
  
  
  
"
  
  
  
"
  
  
  
  
  
"
  

4
B
u
sh
in
g
, 
d
iv
id
er
 m
o
u
n
t 
- 
2
0
"

3
1
-0
1
6
-7
7
6

2
2

2
2

  
  
  
  
"
  
  
  
  
"
  
  
  
"
  
  
  
  
  
"
  

5
B
ra
ck
et
, 
m
tg
 -
 t
ip
-u
p
 -
 C
en
te
r 
&
 L
ef
t

0
2
-0
1
5
-8
5
7

1
1

1
1

C
en
te
r 
&
 r
o
w
s 
o
n
 l
ef
t 
h
a
lf

5
a

B
ra
ck
et
, 
m
tg
 -
 t
ip
-u
p
 -
 R
ig
h
t

0
2
-0
1
5
-8
5
8

1
1

1
1

R
o
w
s 
o
n
 r
ig
h
t 
h
a
lf

6
W
a
sh
er
, 
lo
ck

M
1
0
L
W

1
1

1
1

7
S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
0
x
3
0

1
1

1
1

8
W
a
sh
er
, 
fl
a
t

M
8
F
W

9
9

9
9

9
W
a
sh
er
, 
lo
ck

M
8
L
W

5
5

5
5

1
0

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
2
0

1
1

1
1

1
1

N
u
t,
 h
ex

M
8
H
N

8
8

8
8

1
2

  
  
 (
n
u
m
b
er
 n
o
t 
u
se
d
)

1
3

B
o
lt
, 
p
a
n
 h
ea
d
 -
 s
lo
tt
ed

M
8
x
2
0
S
L

4
4

4
4

1
4

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
3
0

2
2

2
2

1
5

N
u
t,
 h
ex
 -
 l
o
w
 p
ro
fi
le
  
  
  
  
  
(j
a
m
 n
u
t)
 

M
1
2
L
H
N

2
2

2
2

1
6

S
cr
ew
, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
1
2
x
1
0
0

2
2

2
2

S
n
o
u
t 
a
s
s
y
, 
C
e
n
te
r 
- 
to
 L
e
ft
 &
 R
ig
h
t 
- 
2
0
"
 

7
9

  
P
ie
ce
s 
p
er
 h
ea
d
er
 b
y
 m
o
d
el
 n
u
m
b
er

P
ie
ce
s 
p
er
 i
n
d
iv
id
u
al
 u
n
it
 





0
3
8

  
It
em

 #
  
D
es
cr
ip
ti
o
n

  
P
a
rt
 #

  
 #
1
2
2
0

 #
1
6
2
0

  
 #
1
8
2
0

  
 #
2
4
2
0

  
R
em

a
rk
s

1
T
o
o
l,
 t
o
rq
u
e 
- 
ro
ta
ry
 c
u
tt
er

0
2
-0
1
6
-1
3
9

1
1

1
1

T
o
rq
u
e 
sl
ip
 c
lu
tc
h
es
 t
o
 1
2
0
 f
t 
lb
 *

(t
o
o
l 
is
 i
n
 s
p
ar
e 
p
ar
ts
 k
it
)

2
S
ta
n
d
 a
ss
y
, 
su
p
p
o
rt
, 
a
d
ju
st
a
b
le

0
1
-0
0
1
-0
4
1

>
>

>
>

P
a
rt
 n
u
m
b
er
 f
o
r 
1
 a
ss
y
, 
(f
o
u
r 
p
er

3
  
  
P
in
, 
ja
ck
 s
ta
n
d

9
0
5
-2
3
0
2
8

4
4

4
4

h
ea
d
er
, 
sh
o
w
n
 h
er
e 
fo
r 
b
re
ak
d
o
w
n
)

4
  
  
S
ta
n
d
, 
su
p
p
o
rt

0
2
-0
1
1
-3
4
1

4
4

4
4

5
  
  
K
ey
, 
h
a
ir
p
in

9
0
0
-2
5
0
0
5

4
4

4
4

6
H
ea
d
 l
if
te
r,
 w
el
d
ed
 -
 L
H

1
0
-0
1
6
-7
7
4

1
1

1
1

O
p
ti
o
n
a
l 
fe
a
tu
re
, 
to
 a
id
 l
ef
t 
a
n
d

7
H
ea
d
 l
if
te
r,
 w
el
d
ed
 -
 R
H

1
0
-0
1
6
-7
6
7

1
1

1
1

ri
g
h
t 
en
d
 d
iv
id
er
s

8
B
ra
ck
et
, 
m
o
u
n
ti
n
g
, 
h
ea
d
 l
if
te
r

1
3
-0
1
6
-8
0
3

2
2

2
2

9
S
cr
ew

, 
h
ex
 h
d
 c
a
p
, 
g
ra
d
e 
8
.8

M
8
x
2
0

4
4

4
4

1
0

W
a
sh
er
, 
lo
ck

M
8
L
W

4
4

4
4

1
1

N
u
t,
 h
ex
, 
g
ra
d
e 
8

M
8
H
N

4
4

4
4

1
2

P
in
 r
el
ea
se
 t
o
o
l,
 c
u
rv
ed

7
0
-0
0
1
-1
0
1

1
1

1
1

(F
o
r 
2
0
 a
n
d
 2
2
 i
n
ch
 r
o
w
 h
ea
d
er
s)

8
1

  
  
*
  
U
se
d
 o
n
 i
te
m
 n
o
. 
1
8
, 
 p
p
 4
8
 &

 4
9

  
P
ie
ce
s 
p
er
 H

ea
d
er
 b
y
 M

o
d
el
 #

N
ee
d
ed
 w
it
h
 b
o
th
 L
H
 a
n
d
 R
H
 L
if
te
rs
 A
b
o
v
e 
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 

 S
p
e
c
ia
l 
T
o
o
ls
 -
  
D
e
ta
c
h
a
b
le
 &
 O
p
ti
o
n
a
l 
P
a
rt
s



3

4

10

5

6

7

8

9

11

12

13

Serial no. plate

82

1

2

2

14

15

16 to 19

16 to 19



0
3
9

  
It

em
 #

  
D

es
cr

ip
ti

o
n

  
P

a
rt

 #
  
 #

1
2
2
0

#
1
6
2
0

  
 #

1
8
2
0

  
 #

2
4
2
0

  
R

em
a
rk

s

D
ec

al
 s
et

, 
1
2
2
0

1
0
-0

1
6
-0

4
2

1

D
ec

al
 s
et

, 
1
6
2
0

0
1
-0

0
1
-2

6
9

1

D
ec

al
 s
et

, 
1
8
2
0

0
1
-0

0
1
-2

7
0

1

D
ec

al
 s
et

, 
2
4
2
0

0
1
-0

0
1
-2

7
1

1

1
D

ec
al

, 
m

o
v
in

g
 p

ar
ts

 -
 k

ee
p
 h

an
d
s 
--

-
6
9
-0

1
6
-2

0
4

2
2

2
2

2
D

ec
al

, 
S
u
n
m

as
te

r 
- 
S
u
n
fl
o
w

er
6
9
-0

1
6
-2

0
6

2
2

2
2

L
o
g
o
 (
2
0
1
4
)

3
D

ec
al

, 
cr

an
e 

h
o
o
k

6
9
-0

1
6
-0

5
0

2
2

2
2

4
D

ec
al

, 
ro

ta
ti
n
g
 d

ri
v
el

in
e

6
9
-0

1
6
-2

0
3

1
2

2
2

5
D

ec
al

, 
ch

ec
k
 b

o
lt
s 
an

d
 n

u
ts

6
9
-0

1
6
-0

5
4

1
1

1
1

6
D

ec
al

, 
st

ay
 c

le
ar

 o
f 
m

ac
h
in

e
6
9
-0

1
6
-0

5
8

1
1

1
1

7
D

ec
al

, 
re

ad
 o

p
er

at
o
rs

 m
an

u
al

6
9
-0

1
6
-0

5
5

1
1

1
1

8
D

ec
al

, 
d
ri
v
e 

sy
st

em
6
9
-0

1
6
-0

4
8

1
2

2
2

9
D

ec
al

, 
k
ee

p
 h

an
d
s,
 f
ee

t,
 h

ai
r,
 c

lo
th

in
g

6
9
-0

1
6
-0

5
9

1
1

1
1

1
0

D
ec

al
, 
st

ay
 c

le
ar

 o
f 
m

ac
h
in

e
6
9
-0

1
6
-0

5
7

1
1

1
1

1
1

D
ec

al
, 
re

ad
 o

p
er

at
o
rs

 m
an

u
al

6
9
-0

1
6
-0

5
1

1
1

1
1

1
2

D
ec

al
, 
m

an
u
fa

ct
u
re

r
6
9
-0

1
6
-0

6
3

1
1

1
1

1
3

D
ec

al
, 
se

tt
in

g
 -
 t
en

si
o
n

6
9
-0

1
6
-0

4
9

1
2

1
6

1
8

2
4

1
4

D
ec

al
, 
st

ri
p
e 

- 
le

ft
 s
id

e
6
9
-0

1
6
-2

0
7

1
1

1
1

1
5

D
ec

al
, 
st

ri
p
e 

- 
ri
g
h
t 
si

d
e

6
9
-0

1
6
-2

0
8

1
1

1
1

1
6

D
ec

al
, 
1
2
R

2
0
 -
 m

o
d
el

6
9
-0

1
6
-2

1
4

2

1
7

D
ec

al
, 
1
6
R

2
0
 -
 m

o
d
el

6
9
-0

1
6
-2

1
5

2

1
8

D
ec

al
, 
1
8
R

2
0
 -
 m

o
d
el

6
9
-0

1
6
-2

1
6

2

1
9

D
ec

al
, 
2
4
R

2
0
 -
 m

o
d
el

6
9
-0

1
6
-2

1
7

2

D
e
c
a
ls

8
3

  
P

ie
ce

s 
p
er

 H
ea

d
er

 b
y
 M

o
d
el

 #



20" manual

Seq Qty / Kit    Part Number            Part Name Item Number Page Found

1 2 02-006-035 Hub, blade 11 48 & 49

2 2 06-006-056 Sprocket, bearing assy -17 tooth 6 50 thru 53

3 1 100-3-4417 Rubber strap assy        (new part no.) 24 62 thru 68

4 " 801-991      "        "        "           (old part no.) " "

5 4 10B2-13 Chain coupler- 13 link- double roller 10a 6 & 7

6 6 13-004-300 Shim, 1mm                (new part no.) 5 48 & 49

7 " 2-600-181/A Washer, gapping        (old part no.) " "

8 6 13-004-301 Shim, 0.5mm              (new part no.) 6   "  

9 " 2-600-181/B Washer, gapping         (old part no.) " "

10 4 13-004-303L Lock ring 9   "  

11 2 13-004-304 Plate, locking - 5 ext tooth / 2 int tabs 17   "  

12 2 13-016-496 Cover, seal 21 12 & 13

13 4 29-004-302 Bushing, upper             (new part no.) 8 48 & 49

14 " 2-600-180    "               "                  (old part no.) " "

15 4 29-016-911 Disk, upper 14   "  

16 4 29-016-912 Plate, pressure 15   "  

17 1 30-004-227 Shaft, gearbox - vert.    (new part no.) 14 12 & 13

18 " 2-600-243/3        "             "             "            (old part no.) " "

19 2 30-MSZ232 Ring, snap 19 12 & 13

20 4 32-004-319 Bushing, cutting blade 20 48 & 49

21 2 33-027-249 Nut, round - (4) slots - M40X1.5 18   "  

22 4 34-004-183 Key, flat, round end -  8x7x45mm 16 12 & 13

23 4 34-004-235 Key, flat, round end -  8x7x25mm 13 12 & 13

24 4 51-016-495 Washer, belleville spring 16 48 & 49

25 2 54-006-080 Chain, gathering 26 & 27 50 & 52, 53

26 8 61-016-910 Friction disk, drive 12 48 & 49

27 6 CL10B2 Connector link, dbl - drive assy 11 6 & 7

28 2 M10X80 Screw, hex hd cap, grade 8.8 10 36, 37 & 48, 49

29 4 Z30X40X7 Seal 20 12 & 13

      Revised  4/15/2016

84

Kit No.   01-002-001

Suggested DEALER PARTS KIT for the Sunmaster Header

A list of parts that may become worn in use or be damaged.



20" manual

Seq Qty / Kit    Part Number            Part Name Item Number Page Found

1 6 06X22 Rivet 22 48 & 49

2 1 10B2-13 Chain, coupler - 13 link - double 10a & 11 6, 7 & 8, 9

3 2 13-006-037 Cutting blade             (sickle section) 21 48 & 49

4 1 CL10B2 Connector link, double - 5/8 11 & 12 6, 7 & 8, 9

5 1 CL12B2 Connector link, double - 3/4 10, 20 & 20 28 thru 33
6 12A-1      "        "        "           (old part no.) " "

Parts that may become worn in use or be damaged.

CUSTOMER SPARE PARTS KIT for the Sunmaster Header

Kit No.   01-002-002

85



 Part Number Page 
6306 13
6306 15

 63052RS1 41
 100-3-4417 67
 100-3-4417 63

 24-005-881 11
24-005-881 13
 24-024-082 11
24-024-084 11
 6206-2RS1 13

01-002-004 5
01-001-041 81
01-001-080 47
01-001-080 55
01-001-081 47

01-001-081 55
01-001-201 47
01-001-201 51
01-001-202 47
01-001-202 51

01-001-269 83
01-001-270 83
01-001-271 83
01-001-303 57
01-001-304 57

01-001-307 57
01-001-359 5
01-001-359 7
01-001-360 5
01-001-360 7

01-001-363 5
01-001-363 7
01-001-505 71
01-001-508 71
01-001-519 71

INDEX

 Part Number Page 
01-001-523 61
01-001-524 61
01-001-527 61
01-001-529 61
01-001-531 63

01-001-531 67
01-001-714 47
01-001-715 47
01-001-716 47
01-001-747 73

01-001-750 73
01-001-751 73
01-001-752 73
01-001-774 73
01-001-774 75

01-001-778 73
01-001-778 77
01-001-807 57
01-001-807 59
01-001-808 57

01-001-808 59
01-001-809 57
01-001-809 59
01-001-822 43
01-001-823 5

01-001-823 43
01-001-824 5
01-001-824 43
01-001-827 5
01-001-827 43

01-001-829 5
01-001-829 29
01-001-829 39
01-001-833 5
01-001-833 29

86

 Part Number Page 
01-001-857 73
01-001-857 79
01-001-858 73
01-001-858 79
01-001-953 5

01-001-955 5
01-001-956 5
01-001-959 5
01-001-959 21
01-001-959 25

01-015-714 47
01-015-720 57
01-015-770 5
01-015-770 7
01-015-774 5

01-015-774 43
01-015-807 59
01-015-808 59
01-015-809 59
01-016-350 19

01-016-366 5
01-016-370 7
01-016-370 9
01-016-370 19
01-016-835 21

01-016-835 23
01-016-837 21
01-016-837 23
01-018-367 7
01-018-367 9

01-018-369 7
01-018-369 9
01-018-371 7
01-018-371 9
01-020-026 21



 Part Number Page 
01-020-026 23
01-024-073 5
01-024-073 31
01-024-074 5
01-024-074 33

02-006-023 51
02-006-035 49
02-006-035 84
02-006-036 49
02-006-084 55

02-006-085 55
02-006-133 71
02-006-431 71
02-009-150 19
02-009-188 25

02-011-341 81
02-015-705 5
02-015-801 43
02-015-844 71
02-015-857 79

02-015-858 79
02-015-860 75
02-015-860 77
02-015-930 21
02-016-139 81

02-016-300 25
02-016-301 25
02-016-450 45
02-016-452 45
02-016-483 51

02-016-484 51
02-016-501 63
02-016-502 67
02-016-503 63
02-016-504 67

INDEX

 Part Number Page 
02-016-509 63
02-016-510 67
02-016-525 63
02-016-526 67
02-016-530 63

02-016-531 63
02-016-532 67
02-016-541 63
02-016-542 67
02-016-567 63

02-016-568 67
02-016-570 67
02-016-813 63
02-016-814 67
02-016-875 41

02-018-704 5
02-018-705 5
02-018-708 5
02-018-843 71
02-018-844 71

02-018-845 71
02-018-898 43
02-018-899 43
02-018-900 43
02-018-903 43

02-018-978 21
02-018-979 21
02-018-984 25
02-018-985 25
02-027-201 51

02-027-202 51
02-027-209 51
02-027-212 51
02-027-215 51
03-004-161 7

87

 Part Number Page 
03-004-161 9
03-004-161 11
03-004-161 13
03-016-843 29
03-016-843 35

03-016-844 31
03-016-844 33
03-024-078 7
03-024-078 9
03-024-078 11

03-024-079 7
03-024-079 9
03-024-079 11
03-024-081 11
03-024-081 15

043 491 37
043 491 39

04-8x16N 59
04-8x16N 71

05-006-034 49

05-006-034 49
05-016-848 37
05-016-906 47
05-016-906 49
05-016-908 49

05-016-908 49
05-024-101 29
05-024-101 31
05-024-101 37
05-024-102 33

05-024-102 39
05-024-102 39
06-006-056 51
06-006-056 53
06-006-056 84



 Part Number Page 
06-016-850 29
06-016-850 31
06-016-850 33
06-016-850 41
06x22 49

06X22 85
07-016-451 45
07-016-849 29
07-016-865 37
07-016-866 37

07-016-866 39
07-024-103 39
10-015-835 71
10-015-860 79
10-016-042 83

10-016-767 81
10-016-771 75
10-016-774 81
100-3-3648 31
100-3-3648 33

100-3-4208 25
100-3-4417 84
10B2-13 7
10B2-13 9
10B2-13 84

10B2-13 85
10B2-15 7
10B2-15 9
12-004-090 5
12-004-299 49

12-005-594 63
12-005-594 67
12-006-082 55
12-006-083 55
12-016-518 63

INDEX

 Part Number Page 
12-016-518 67
12A-1 85
12B2 29
12B2 29
12B2 31

12B2 31
12B2 33
12B2 33
12B2-14 45
13-004-300 49

13-004-300 84
13-004-301 49
13-004-301 84
13-004-303L 49
13-004-303L 84

13-004-304 49
13-004-304 84
13-004-305 37
13-004-305 39
13-004-306 31

13-005-830 35
13-005-830 43
13-005-993 29
13-005-993 31

13-005-993 33
13-005-993 35
13-005-993 43
13-005-994 29
13-005-994 31

13-005-994 33
13-005-994 35
13-005-994 43
13-006-025 47
13-006-025 49

88

 Part Number Page 
13-006-026 47
13-006-026 49
13-006-037 49
13-006-037 85
13-009-251 55

13-011-302 25
13-015-817 59
13-015-825 59
13-016-429 41
13-016-496 11

13-016-496 13
13-016-496 84
13-016-570 63
13-016-570 67
13-016-803 81

13-016-842 29
13-016-888 41
13-016-889 41
14-004-297 49
14-004-344 53

14-006-231 59
14-006-232 59
14-009-385 61
14-009-386 61
14-010-093 23

14-015-810 59
14-015-837 61
14-015-838 61
14-015-839 61
14-015-840 61

14-015-841 61
14-015-842 61
14-015-869 79
14-015-870 79
14-016-519 63



 Part Number Page 
14-016-520 67
14-016-579 75
14-016-579 77
14-016-788S 75
14-016-789S 77

14-016-859 37
14-016-859 39
14-016-939 61
14-016-940 61
14-027-210 51

17-016-901 21
17262082RSR 23
20MSZ232 51
22-004-228 13
24-004-343 53

24-005-817 29
24-005-817 31
24-005-817 33
24-005-825 29
24-005-826 29

24-005-827 29
24-005-828 29
24-005-828 35
24-005-829 29
24-005-881 17

24-005-881W 11
24-005-881W 13
24-005-881W 17
24-005-923 29
24-009-241 29

24-009-242 29
24-009-243 29
24-016-425 35
24-024-082 17
24-024-082W 11

INDEX

 Part Number Page 
24-024-082W 17
24-024-084W 11
24-024-084W 31
24-024-084W 33
2-600-180 84

2-600-181/A 84
2-600-181/B 84
2-600-232 11
2-600-232 15
2-600-238 15

2-600-239 15
2-600-242 15
2-600-243/3 84
2-600-244 15
2-600-251 15

29-004-302 49
29-004-302 84
29-005-781 17
29-016-867 37
29-016-867 39

29-016-868 37
29-016-868 39
29-016-869 37
29-016-869 39
29-016-870 37

29-016-870 39
29-016-911 49
29-016-911 84
29-016-912 49
29-016-912 84

30-004-225 11
30-004-225 13
30-004-227 11
30-004-227 13
30-004-227 15

89

 Part Number Page 
30-004-227 84
30-015-778 17
30-015-780 17
30-015-800 43
30-015-801 43

30-016-455 45
30-016-839 23
30-016-841 23
30-016-851 35
30-018-892 43

30-018-893 43
30-018-894 43
30-018-896 43
30-020-027 23
30-020-029 25

30-024-083 11
30-024-083 15
30-024-085 17
30MSZ232 13
30MSZ232 15

30-MSZ232 84
31-004-574 59
31-006-061 51
31-009-159 19
31-016-775 75

31-016-775 77
31-016-776 79
31-016-820 29
31-016-820 31
31-016-820 33

31-016-852 35
31-016-852 43
32-004-319 49
32-004-319 84
33-006-062 51



 Part Number Page 
33-016-065 41
33-016-879 43
33-027-249 49
33-027-249 84
34-004-168 23

34-004-183 13
34-004-183 84
34-004-214 13
34-004-214 17
34-004-214 35

34-004-235 13
34-004-235 15
34-004-235 84
34-010-112 23
40-004-209 35

40-004-224 13
40-004-226 13
40-010-087 17
41-016-820 13
41-016-820 15

4x18 53
50-004-340 41
50-004-340 51
50-009-265 59
50-009-266 59

50-016-456 45
51-016-495 49
51-016-495 84
52-006-031 47
52-006-031 51

52-014-221 47
52-014-221 51
54-006-080 53
54-006-080 84
60-016-878 43

INDEX

 Part Number Page 
6007-2RS1 35
610-0-0006 25
61-016-441 43
61-016-441 45
61-016-807 59

61-016-876 41
61-016-910 49
61-016-910 84
6202-2RS1 19
6204-2RS1 53

6206-2RS1 15
6206-2RSR 13
62MSZ231 35
62MSZ231 41
63-016-371 15

6305-2RSR 41
65-015-816 59
65-015-824 59
65-016-508 71
65-016-511 71

65-016-518 71
69-009-152 19
69-016-048 83
69-016-049 83
69-016-050 83

69-016-051 83
69-016-054 83
69-016-055 83
69-016-057 83
69-016-058 83

69-016-059 83
69-016-063 83
69-016-203 83
69-016-204 83
69-016-206 83

90

 Part Number Page 
69-016-207 83
69-016-208 83
69-016-214 83
69-016-215 83
69-016-216 83

69-016-217 83
70-001-101 81
72MSZ231 13
72MSZ231 15
801-991 84

900-01127 25
900-01227 25
900-01345 25
900-01695 21
900-01751 25

900-06013 25
900-06145 25
900-06500 25
900-06504 25
900-06530 21

900-11035 25
900-11177 59
900-11197 71
900-17615 5
900-22974 65

900-22974 69
900-23025 7
900-23025 9
900-25005 29
900-25005 31

900-25005 33
900-25005 81
905-23028 81
CL10B2 7
CL10B2 9
CL10B2 84



 Part Number Page 
CL10B2 85
CL12B1 53
CL12B2 29
CL12B2 31
CL12B2 33

CL12B2 85
FY-507 43
FY-507 45
FY-508 23
H208 23

KM8 23
M10FW 19
M10FW 29
M10FW 31
M10FW 33

M10FW 53
M10FW 59
M10FW 65
M10FW 65
M10FW 69

M10FW 69
M10FW 71
M10FW 73
M10HN 19
M10HN 29

M10HN 31
M10HN 33
M10HN 53
M10HN 59
M10HN 65

M10HN 69
M10HN 71
M10HN 73
M10LW 19
M10LW 29

INDEX

 Part Number Page 
M10LW 29
M10LW 31
M10LW 31
M10LW 33
M10LW 33

M10LW 35
M10LW 43
M10LW 53
M10LW 55
M10LW 59

M10LW 65
M10LW 69
M10LW 71
M10LW 73
M10LW 75

M10LW 77
M10LW 79
M10x20 53
M10x20 55
M10x20 59

M10x20 65
M10x20 69
M10x25 29
M10x25 31
M10x25 33

M10x25 49
M10x25 65
M10x25 69
M10x25 73
M10x30 35

M10x30 43
M10x30 65
M10x30 69
M10x30 71
M10x30 75

91

 Part Number Page 
M10x30 77
M10x30 79
M10x35 19
M10x45 29
M10x45 31

M10x45 33
M10x80 37
M10x80 49
M10X80 84
M10x90 37

M10x90 39
M12FW 7
M12FW 9
M12FW 21
M12FW 23

M12FW 43
M12FW 43
M12FW 45
M12FW 53
M12FW 55

M12FW 61
M12FW 71
M12FW 73
M12HN 7
M12HN 9

M12HN 21
M12HN 23
M12HN 43
M12HN 45
M12HN 61

M12HN 73
M12LHN 19
M12LHN 75
M12LHN 77
M12LHN 79



 Part Number Page 
M12LW 7
M12LW 9
M12LW 21
M12LW 23
M12LW 43

M12LW 45
M12LW 53
M12LW 55
M12LW 71
M12LW 73

M12W 45
M12x100 75
M12x100 77
M12x100 79
M12x30 43

M12x30 45
M12x30 53
M12x30 55
M12x30 71
M12x35 53

M12x35CB 21
M12x35CB 23
M12x40 45
M12x50 7
M12x50 9

M12x50 43
M12x55 7
M12x55 9
M12x55 21
M12x55 45

M12x70 21
M12x80 53
M12x90 73
M14FW 7
M14FW 9

INDEX

 Part Number Page 
M16FW 13
M16FW 29
M16FW 31
M16FW 33
M16JN 41

M16x1.5 13
M24FW 41
M6FW 63
M6FW 67
M6HN 63

M6HN 67
M6LW 63
M6LW 67
M6x20 63
M6x20 67

M8FW 55
M8FW 63
M8FW 63
M8FW 67
M8FW 75

M8FW 77
M8FW 79
M8FW 61
M8FW 67
M8HN 17

M8HN 55
M8HN 65
M8HN 69
M8HN 75
M8HN 77

M8HN 79
M8HN 81
M8LW 13
M8LW 15
M8LW 17

92

 Part Number Page 
M8LW 41
M8LW 55
M8LW 61
M8LW 65
M8LW 67

M8LW 75
M8LW 77
M8LW 79
M8LW 81
M8x20 13

M8x20 15
M8x20 41
M8x20 61
M8x20 65
M8x20 69

M8x20 75
M8x20 77
M8x20 79
M8x20 81

M8x20LHN 17

M8x20SL 75
M8x20SL 77
M8x20SL 79
M8x20SS 17
M8x25 65

M8x25 69
M8x25CB 55
M8x30 75
M8x30 77
M8x30 79

M8x35 17
M8x35 59
MB8 23
OL12B2 29
PF52 17



 Part Number Page 
PM3535SY 39

RONA 63/TAU 37
RONA 63/TAU 39

Y30x52x10 13
Y30x52x10 15

YT-205 17
YT-207 43
YT-207 43
YT-207 45

Z30x40x7 11

Z30x40x7 13
Z30X40X7 84

INDEX

 Part Number Page 

93







701 Lenham Ave.  -  P.O. Box 647

Cooperstown, ND 58425

Office (701) 797-2700

Fax (701) 797-2584

Toll Free (800) 797-1883

www.sheyennemfg.com

                                                                                                                                                 00-001-1001
5/16         

http://www.sheyennemfg.com/

